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UGC NET PAPER 2 MARCH 2, 2022 SHIFT 1 SOCIOLOGY QUESTION PAPER

Topic:- Sociology_SetZ A

1) Which one of the following is NOT correct according to Marx?

wircrsl @ sepre Broftiiaa #§ 3 oo m aft s 5 ?

[Question ID = 1351][Question Description = 52_qSNz_PG_SCY_QO01]
1. Political economy conceals the estrangement inherent in the nature of labour by not considering the direct relationship between the worker (labour)
and production. /raeiteifirr afdfbife sftry & aneer 3 s srmem o wreen (afer) Hty svaree o dfter grensr SR o AR 5 Ay oxd

[Option ID = 5401]
2. The direct relationship of labour to its products is the relationship of the worker to the objects of his production. / gfirr o1 3o srus 31 GremeT F6Ee

DHEIR 320 ScUIGel G 3 2 &

[Option ID = 5402)
3. Labour is external to the worker/sm wepm 3 msz (3R 3n 3

[Option ID = 5403]
4. Life activity and productive life for labour is to maintain a luxurious life. / gfite o frr sitoe Feream Az srues Siad IRPerEE st st 2

[Option ID = 5404]

2) Who defined class as 'when a number of people have in commeon, a specific causal component of their life chances'?

"SI age A ool # oKD Sl @ acdrl 3 Wb I fafdne (punesrs @ew gl as et di afimar Reewor €1 ?

[Question ID = 1352][Question Description = $2_qSNz_PG_SCY_Q02]
1. Karl Marx/=met s

[Option ID = 5405]
2. Max Weber /3= daz

[Option ID = 5406]
3. Friedrich Engels/dsdiwrakrs

[Option ID = 5407]
4, Antonio Gramsci/ceelerl st

[Option ID = 5408]

3) According to Durkheim, it is possible to make the claim of being Science, as systematization, classification and
offering explanation on the basis of which of the following?

ferpaferfiaa 3 A frad snenz a3z gaffa @ syorae srarane, astlozor Ay s o Risns sior O gr won g § 7

[Question ID = 1353][Question Description = 52_qSNz_PG_SCY_QO03]
1. Internality /st (Sewmicrl)

[Option ID = 5409]
2. Subjectivity/snenoraa (I

[Option ID = 5410]
3. Falsifiability/Breama (wriideiERe)

[Opticn ID = 5411]
4. Externality/amiue (eaeceolcel)

[Option ID = 5412]

4) Distinct economic systems that are characterized by a specific set of relations of production combined with forms of
productive forces is called:

34 fafdre snfifes gunedl @ g=n wa st 2 forad! g scaca @ fafdree Iie & Fideh afza scarcs sl A FET a ?

[Question ID = 1354][Question Description = $§2_qSNz_PG_SCY_Q04]
1. Means of production/ s o armE

[Opticn ID = 5413]
2. Instruments of production/srosT @ 2

[Option ID = 5414)
3. Mode of production/zcasa 1 goneft
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[Option ID = 5415]
4. Relations of production/3rugs o S

[Option ID = 5416]

5) Achievement, Self-discipline and Individualism that are instrumental on task-oriented represent which type of societies?

ucfesr Fa- N diiz =iftbarg Al ol Jeaam # Jera 2 ag fvar yor @ #aEi ©f gorfar & ?

[Question ID = 1355][Question Description = §2_qgS5Nz_PG_SCY_Q05]
1. Small societies/sr awsr

[Option ID = 5417]
2. Folk societies /iy e

[Option ID = 5418]
3. Advanced societies/3=aa srT

[Option ID = 541%]
4, Peasant societies/urrr asst

[Option ID = 5420]

6) Who among the following considered person-to-person relations and actually existing relations as constituting the social
structure?

=i Rosel sl Ry srenfans Fizaen 3 «afis o1 calre @ e 3l Aenfene Hder amaa o aenef sda aia § ?

[Question ID = 1356][Question Description = $2_qSNz_PG_SCY_Q06]
1. M. Ginsberg/en frssmst

[Option ID = 5421]
2. A. R. Redcliffe Brown/w sm. Ishrow-ag=e

[Option ID = 5422]
3. Raymond Firth/35s we

[Option ID = 5423)
4, R. K. Merton/an @ =

[Option ID = 5424]

7) 'All truths are ideologically biased, all truths ultimately reflect the interest and biases of social groups’, whose views are
these?

wilt wa Agifeer Ha A gerarddt 21 B, 2l T oo wenber aggl & waet iz ggin o suld 3 a5 Reaor #a

[Question ID = 1357][Question Description = 52_q5Nz_PG_5CY_Q07]
1. Karl Marx /= saa=t

[Option ID = 5425]
2. Karl Mannheim fearet fiads

[Option ID = 5426]
3, Charles Lemert/ o= s

[Option ID = 5427]
4. Clifford Geertz/FramiE sfiox

[Option ID = 5428]

8) Which term is used to refer to the characteristics or properties of the studied object?

MEXTAA bl 3 Taq Dl fagiavnadl siiz spreEt ©! ek o @ kv i eme (eat) @1 sevane fosan wren 3 7

[Question ID = 1358][Question Description = §2_qgS5Nz_PG_SCY_QO08]
1. Hypothesis/es/qrsoum

[Option ID = 542%]
2. Research questions/sier g

[Opticn ID = 5430]
3. Ethics/dfiftremse

[Option ID = 5431]
4, Concepts/amemomd

[Option ID = 5432]

9) The reasoning which proceeds from a general truth to a particular truth is called:
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az b il ATHIGA e 3 fafdree Frer &Y a7 s 2 331 o oosl oI 2 7

[Question ID = 1359][Question Description = $2_qSNz_PG_SCY_Q09]
1. Inductive/ aememrr

[Opticn ID = 5433]
2. Premise/amgm

[Option ID = 5434)]
3. Deductive/ oo

[Option ID = 5435]
4. Prediction/ niermoit

[Option ID = 5436]

10) Which book on research methodology was written by Emile Durkheim that is considered one of his first works?

stopzitiel Yot & a3 3 wisl Al Qe dasa grila gr ol o8 2 Bl v grlice ol sen s 2 7
[Question ID = 1360][Question Description = $2_qSNz_PG_SCY_Q10]

1. Methods in Social Research/divrsa st ater Braed [Option ID = 5437]

2. Research Methods in Social Relations/ e $ema s e Rowes [Option ID = 5438]

3. Rules of Sociological Method/ s sife Afdeiriforso de= [Option 1D = 5439]

4. Research Methodology in Social Sciences/fief HoEieiih 2o soer 33 [Option ID = 5440]

11) Which one of the following is a suspicion of outsiders combined with a tendency to evaluate the culture of others in
terms of one's own culture?

kot are IR Uz HeE o 2 forerd el cufes @1 el Tazi &1 dvmla @ arene Uz g3t safts &l Jwpii &1 Jraiod ol Bt ggi gkt
2, aB 8

[Question ID = 1361][Question Description = $§2_qSNz_PG_SCY_Q11]
1. Assimilation/arermrasy wi=lam

[Opticn ID = 5441]
2. Racism/qairrne

[Option ID = 5442]
3. Ethnocentrism /g=nf 2 frga

[Option ID = 5443]
4. Ethnography/aniremsy

[Option ID = 5444]

12) Who emphasized the significance of the dialectical model in studying rural society?

Roaer sjeivr Jars © iR 3 SEReRp g5y Uz o e ?

[Question ID = 1362][Question Description = $2_qSNz_PG_SCY_Q12]
1. A. B. Mukherji/z. =t st

[Option ID = 5445]
2. Ramkrishna Mukherjee /s@mgmn g

[Option ID = 5446]
3. Sudipta Mukherjee/3diat =

[Option ID = 5447]
4. P. N. Mukherji/ o st

[Option ID = 5448]

13) Which village was studied by Andre Beteille in his work on 'Caste, Class and Power'?

‘wifer, o=t 3z o1fvp’ 9 areg, A ausl Rl '®re, o s aae d e sifa ®r 3R foeen ?

[Question ID = 1363][Question Description = §2_qg5Nz_PG_SCY_Q13]
1. Sripuram /g

[Option ID = 544%]
2. Rampura/ega

[Option ID = 5450]
3. Mohana/#EEn



www.prepp.in .repp

Your Personal Exams Guide

[Option ID = 5451]
4. Kumbapettai/orniles

[Option ID = 5452]

14) Wangala village in Mysore was studied by which scholar?
Jvgz @ aieTan vk Wi staRe fva sedan g Roer ?

[Question ID = 1364][Question Description = 52_qSNz_PG_SCY_Q14]
A. C. Mayer/e=. 3ez [Option 1D = 5453]

b, Opler /e, sz [Option D = 5454]

T. 5. Epstein/dlex. soeder [Option |D = 5455]

H. $. Dhillon/vaea, fecel [Option ID = 5456]

ol B

15) Who said, "empty land sitting useless -if homeless people can live there”, what is wrong?

a1z woelt srfter av dus ST e E al vl asr srea 37 us Ry wer ¥ 7

[Question ID = 1365][Question Description = $2_qSNz_PG_SCY_Q15]
1. J. E. Perlman/3i g ucidar

[Option ID = 5457]
2. R. Neurwirth/ars. seae

[Option ID = 5458]
3. V. Dupont/<it. g

[Option ID = 5459]
4. Ratna N. Rao/7/0 w3 79

[Option ID = 5460]

16) A megacity is one whose population is

51 91ET A Ded & et anard 8t 7

[Question ID = 1366][Question Description = 52_qg5Nz_PG_SCY_Q16]
1. 15 million or more/ 15 BiffrEm o1 333 afdes

[Option ID = 5461)
2. 10 million or more /10 iftrmE @ 353 sider

[Option ID = 54562]
3. 5 million or more/5 BiifRe =1 3331 1T

[Option ID = 5463)
4, 1 million or more/ Bifwm 20 sa after

[Option ID = 5464]

17) The impact of industry on religion, according to Elton Mayo, is transformation from

Geeel AR @ AGRIR JERl @1 3 uz guE o HUidvr &

[Question ID = 1367][Question Description = $2_qSNz_PG_SCY_Q17]
1. A religious to non-religious society /e wifkr A stz w9 € sip

[Opticn ID = 5465]
2. An establishment of normative to open society/werbR 3 J7 0T @5 ZUI0=T ©f J3iF

[Option ID = 5466)
3. A ritualistic to secular society/ essiemodizr 3 waf Frollsr spsr 7 2l

[Option ID = 5467]
4. An established to an adaptive society/wp senfin 31 gt 2w &t sz

[Option ID = 5468]

18) Among the earlier industrial sociologists, who has written the book, Social Framework of an indian Factory?

grRiiRe sfienfErr FeamEnheaE # 3 feaa A Baas e e siEae Sadl’ siore georp o firsn 8 7

[Question ID = 1368][Question Description = $2_qSNz_PG_SCY_Q18]
1. E. A. Ramaswamy/3 v st

[Option ID = 5469]
2. G. 5. Ghurye/5H, v g2

[Option ID = 5470]
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[ 3. N.R. Sheth/ve anz 95

[Option ID = 5471]
4. Sharat K. Bhaumik /e @, siEmm

[Option ID = 5472]

19) According to new ideas in the industry:

Feitor # axttor frana & srorn Arera el WY awr wen suar 3 7

[Question ID = 1369][Question Description = 52_qSNz_PG_SCY_Q19]
1. human work is no lenger considered as a pure economic activity /ool mes snftfay sieiRfg @ =u & o

[Option ID = 5473]
2. Worker is not supposed to work only for the sake of wages/yfirs da Iaa & 17 =xf o &1

[Option ID = 5474]
3, Both (1} and (2)/(1) 3z (2) &=t

[Option ID = 5475]
4. Mone of the above/fawrr 3 31 ©F ol

[Option ID = 5476]

20) Who has written the book ‘Urbanization and Family Change' in the Indian context?

“srderEaiere v Bhich I s grae wEtle syl Rower Rxdt £ 7

[Question ID = 1370][Question Description = §2_qgS5Nz_PG_SCY_Q20]
1. 5.C. Dube/w 3t g

[Option ID = 5477]
2. Irawati Karve/swerlt od

[Optian ID = 5478]
3. M. 5. Gore/oa. o3t @i

[Option ID = 5479%]
4, A, M. Shah/v. oa ooz

[Option ID = 5480]

21) Who is the author of the book 'Human Ecology'?
"gJgToT SDICiSl | SIHD YIai © CRAd Didl & 7

[Question ID = 1371][Question Description = $2_qSNz_PG_SCY_Q21]
1. R. Park/amz aug

[Option ID = 5481]
2. A. Hawley/u Zigr

[Option ID = 5482)
3. E. Burgess/{ wmim

[Option ID = 5483]
4. G. Simmel/dt, e

[Option ID = 5484]

22) The title of the Brundtland Report is

gscis i @1 offde Ten & 7
[Question ID = 1372][Question Description = $2_qSNz_PG_SCY_Q22]
1. ‘Environment-friendly Resource Consumption'/ ssarsic ©odl- e ommusmr

[Option ID = 5485]
2. 'Our Common Future'/ s SiFa =

[Option ID = 5486]
3. 'Caring for Barth'/ S ©iz =i

[Option ID = 5487]
4, 'Caring and Sharing'/ '$w=f¥ o3 drfsr

[Option ID = 5488]

23) Which one of the following environmentalists got the Nobel Prize for Peace in 2004 for contribution to Sustainable
Development, Democracy and Peace?
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fBreaterfae 3 A Row gataveflg o wan R, aasd siie enifer © &g # Mercior 3g ad 2004 # enifer w1 siraa gzranz R s ?

[Question ID = 1373][Question Description = 52_qSNz_PG_SCY_Q23]
1. Sundarlal Bahuguna/ggece agamm

[Option ID = 5489]
2. M. C. Mehta/oy =0t 3B

[Option ID = 5490]
3. Wangari Mathai/«erd sent

[Option ID = 5491]
4. Anil Agarwal/sfEeT se@ae

[Option ID = 5492)

24) Depletion of the ozone layer in the stratosphere is responsible for:
HAAY F5cd 3 isilel uza & aftordr srwerd & -

[Question ID = 1374][Question Description = §2_qgS5Nz_PG_SCY_Q24]
1. Increase in Carbon dioxide/oeserifores & agimd

[Option ID = 5493)
2. Skin cancet /oo Sae

[Option 1D = 5494]
3. Cholera/&m

[Option ID = 5495]
4, Increase in Sulphur dioxide/swow - srmitrass d sl

[Option ID = 5496]

25) If nephews and nieces are brought up in their maternal uncle's family, the arrangement is referred to as

i $iaAT - 415l @51 Ulclol - OTEUl JI o ufarz 3 21 2 a9 33 oaaEen o) ©ed & -

[Question ID = 1375][Question Description = $2_qSNz_PG_SCY_Q25]
1. Avunculocal residence/#inwT - Fenstkr arma

[Option ID = 5497]
2. Neolocal residence/or - zemditr smare

[Option ID = 5498]
3. Matrilocal residence /3w - Fersfits arary

[Option ID = 5499]
4. Patrilocal residence/fiwy Fenfere smma

[Option ID = 5500]

26) Levi-Strauss interpreted the sign systems of 'Primitive Culture' examining everything from the

ol - i of anicH el @ dda gyonferal @i gferfeda Rewn bt ssit ardl bt sfia W IATER O bl o1 .

[Question ID = 1376][Question Description = $2_qSNz_PG_SCY_Q26]
1. Kinship structure/srErE sz

[Option ID = 5501]
2. Caste structure/wuff Iwan

[Option ID = 5502]
3. Class structure/osf dwon

[Option ID = 5503]
4. Racial system/ g qonedt

[Option ID = 5504]

27) An idea associated with Marshall McLuhan, who saw the spread of electronic communication as binding the world into a
coherent single community called

321 frar o gar war s # Rrwe Hae Aol Aagsa A 8, Brosia Rea siar o »it Rea o geism voa agor # sisar aidt @ wa # 3= -

[Question ID = 1377][Question Description = 52_qSNz_PG_SCY_Q27]
1. Global Village /féos a1

[Option 1D = 5505]
2. Global network/&Faos oo
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[Option ID = 5506]
3. Global sites/Sfas T

[Option ID = 5507]
4, Global city/Hdi%rr oz

[Option ID = 5508]

28) Who has devised a theory of social conflict on understanding the central characteristics of the "nomadic” and
"sedentary" societies of his time?

e Fad @ Brgia o YRage Aus 39 @ mraEgel iz ‘aeie’ weeEl & Sk fgraanii o wese @ i Koot Reen?

[Question ID = 1378][Question Description = 52_qg5Nz_PG_SCY_Q28]
1. Harriet Martineau /2R midey,

[Option ID = 550%]
2. Karl Marg /ot smed

[Option 1D = 5510]
3. Randall Collins /3= @ifEa

[Option ID = 5511)
4, |bn Khaldun/ s s

[Option ID = 5512]

29) Who has first proposed "Semiology” as a scientific study of signs in society?
Roaar ad g "azion - asrea’ o1 'waa d Ada’ @ Goniein setRm © wu # granfaa Reen?

[Question ID = 1379][Question Description = $2_qSNz_PG_SCY_Q29]
1. Roland Barthes/3en=z ar=ia [Option ID = 5513]

2. Ferdinand de Saussure/w=lEs &t Jiaz [Option 1D = 5514]

3. Claude Levi-Strauss/7rdt = [Option 1D = 5515]

4, Stuart Hall/=gae! &6 [Option D = 5516]

30) Who is the author of "Myth and Meaning"?
'frer us dlfoer @ oro @la 2 ?

[Question ID = 1380][Question Description = $2_qSNz_PG_SCY_Q30]
1. B. Malinowski /. ffewiizbt

[Option ID = 5517)
2. Claude Levi-Strauss/=af2 ordt - =<1

[Option ID = 5518]
3. 5 F. Hadal/wa we. gisa

[Option ID = 5519)
4. A. R. Radcliffe-Brown/u anz sirae-goEa

[Option ID = 5520]

31) The Munda and the Oraon of the Chotta Nagpur who live close to each other and share much of their cultural life,
belong to which speech group, respectively?

BICIoIIgE @ 3T 3 silsia ot v - g & Bt ar w3 ¥ 3l 51t aras wpivgsfores stasr o amen @ 8, RBeafrBan 3 31 Bar sima - sircht
g A AT E ?

[Question ID = 1381][Question Description = 52_gS5Nz_PG_SCY_Q31]
1. Austric and Dravidian speech group/ i3 iz gt amr - s swE

[Option ID = 5521]
2. Megrito and Nordic speech group/Hislict sz Hifdeo wmar - smdt s

[Opticn ID = 5522]
3. Mongoloid and Mediterranean speech group/a=iicr=n Jiz g AERE T - ol ZRE

[Option ID = 5523)
4, Western Brachycephals and Mongoloids speech group/dwce griifiorrsa sz Aeiftem sirm - smodt =91

[Option ID = 5524]

32) The concept of Habitus as a basis for a cultural approach to structural inequality with a focus on the embodiment of
cultural representation in human habits and routines was originally used by:

HEIOIcHA® IR Hetll Apiens sume @ sz @ wu # 'SfRigy @l smemeon w1 Bredl soie=1 Bl snedl ot # wpiim reum @&
gqeiiozor uz ad & s 8, P wu ¥ fioarey gEieT fagan e -
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[Question ID = 1382][Question Description = 52_qSNz_PG_SCY_Q32]
1. Fierre Bourdieu/er 483

[Option ID = 5525]
2. Morbert Elias/siEd sierma

[Option ID = 5526]
3. Anthony Giddens/ceisl BEea

[Option ID = 5527]
4. Richard Jenkin/ft=Z smftsa

[Option ID = 5528]

33) Who is the author of "Private Lives and Public Surveillance"?

"grdc oiEed Us uleas afdaia’ & dwas oia § 7

[Question ID = 1383][Question Description = §2_qg5Nz_PG_SCY_Q33]
1. David Lyon/2fs el

[Option ID = 5529]
2. Shoshana Zuboff / shsrer SwRile

[Optien ID = 5530]
3. Gary T. Marx/&# & soost

[Option ID = 5531]
4, James Rule/3wa w1

[Option ID = 5532]

34) Who gave the concept of plastic sexuality?

‘tenficas Bragaferdl’ saemzon fosaror & oft 7

[Question ID = 1384][Question Description = $2_qSNz_PG_SCY_Q34]
1. Ulrich Beck/ seriie dns

[Opticn ID = 5533]
2. Zygmunt Bauman/Beric aai=

[Option ID = 5534]
3. Anthony Giddens/deiell Basa

[Option ID = 5535]
4, David Matthew/3Rs feg

[Option ID = 5536]

35) Count Joseph Arthur de Gobineau is well known for his work on which of the following?

e ARE i 13 sikEls sifelian d A Rea e uz Rov =10 sger wrl @ e gqilg 3 7

[Question ID = 1385][Question Description = $2_qSNz_PG_SCY_Q35]
1. Ethnicity /st

[Option ID = 5537]
2. Racism/&=ogg

[Option ID = 5538]
3. Migration/gmser

[Option ID = 553%9]
4, Gender/fm (Si=3)

[Option ID = 5540]

36) Who among the following traced the evolution of citizenship in three key stages of Civil rights, Political rights and Social
rights?

fBrraferf3oe 3 A Rvaet sty s, arsliferr st iy wenfies afireEl o gea o aell # sy © sga B asae O 0?7

[Question ID = 1386][Question Description = 52_qSNz_PG_SCY_Q36]
1. T. H. Marshall/&t. ea. #msfa

[Option ID = 5541]
2. Gordon Marshall/sidm smefa
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[Option ID = 5542]
3. R. ). Marshall/ams. 31 #peim

[Option ID = 5543]
4. Martin Marshall/#es sushe

[Option ID = 5544]

37) Who among the following has divided globalization into two camps, the optimists and the pessimists?
freaiferfina 3 A Roaer dedlorzor o amenard) sz freromardt g @l # frs v 3 7

[Question ID = 1387][Question Description = 52_qSNz_PG_SCY_Q37]
1. Anthony Giddens/ sl Brdea

[Option ID = 5545]
2. Mike O Donnell/aET & S

[Option ID = 5546)
3. Immanuel Wallerstein/ sdiamm wewdter

[Opticn ID = 5547]
4. George Ritzer/dist Do

[Option ID = 5548]

38) In which one of the following approaches, sexual division of labour was taken for granted and as natural?

foremifeiliaa 4 31 Rowr sueta 4 9w 9@ ier snenfra Rnosm 1 annfcre it spo ?

[Question ID = 1388][Question Description = 52_qgS5Nz_PG_SCY_Q38]
1. Women in Development (WID)/fRrper 3 siftee (=ec ang 21)

[Option ID = 5549]
2. Women and Developrment (WAD)/afEeme 3 Brom (=g e

[Option ID = 5550]
3. Gender and Development (GAD) /% (Si57) A7 fimmr (Grez v 1)

[Option ID = 5551)
4. Postmodernism and Development (PAD)/zmw - anyfermsaas iz e (di w #)

[Option ID = 5552]

39) Which one of the following is NOT a harbinger of cultural change?
forrmferfian 3f 2t @i - 1 AiToiie aoa™ &1 aejg adf 8 7

[Question ID = 1389][Question Description = $§2_qSNz_PG_SCY_Q39]
1. Contact with other cultures/are sraferll & e o

[Option ID = 5553]
2. Revolution /it

[Option ID = 5554]
3. Spread of cultural traits/alrsites Taim = @R

[Option ID = 5555]
4. Cultural conditioning/w=oirr smmeer

[Option ID = 5556]

40) According to R. Wallis, the three broad categories: World-affirming, World-rejecting and World-accomodating
movements are associated with which of the following?

Iz, aiftta @ e diel omae Jivr fira - Fiaa aiciom, fira - sediea aicior iz fira - aaafbe Adiciad fomlafaa 3 3 Rea &
A TIEG B 7

[Question ID = 1390][Question Description = 52_qSNz_PG_SCY_Q40]
1. A value-oriented movement/ sz=iica STl

[Option ID = 5557]
2. New religious movements/aa :fife aigce

[Option ID = 5558]
3. New social movements/ o selry sickm

[Opticn ID = 5559]
4. New age movements/ar1 el Aot

[Option ID = 5560]



www.prepp.in

41) Power commands:

A. Obedience

B. Popularization

C. Submission

Choose the most appropriate answer from the options given below:
orf?p b=t O A 7=wit & :

A. arERBIT

B. gRifzmam

C. seliorar - i

ol f8u a1 fRrpeul 3 A w18l Se @l w=m ifans

[Question ID = 1391][Question Description = $2_qSNz_PG_SCY_Q41]
1. Conly/dma C

[Option ID = 5561)
2. Aand C only/@am A iz C

[Option ID = 5562]
3. A, Band C/A, Bafie C

[Option ID = 5563]
4, Bonly/dac B

[Option ID = 5564]

42) Robin Cohen argued for which of the following categories of diaspora?
A, Victim

B. Imperial

C. Labour

D. Culture

E. Community

Choose the correct answer from the options given below:

jffeer iaer of srIwa & Gsiftiaa s iRl &t aoor o «R?

A, difza

B. zmapf>aes

C. o

D. wwghy

E. waer

il R s1e Rraseal 9 A 78 307 wr awa Hifere :

[Question ID = 1392][Question Description = 52_qSNz_PG_SCY_Q42]
1. B, E, A, Conly

[Opticn ID = 5565]
2. C,D,E, Bonly

[Option ID = 5566])
3. A, B, CandD only

[Opticn ID = 5567]
4. E, C, B, Aonly

[Option ID = 5568]

43) According to lvan lllich, schools have developed which of the following four basic functions?

A. Provision of custodial care

B. Distribution of people within occupational rules

C. Learning of dominant values

D. Promote equality or the development of individual creativity
E. Acquisition of society approved skills and knowledge

Choose the correct answer from the options given below:
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T4l sier & g, Reresl o orafiifiaa oz ga yor! el oo 8
A, saffnmadrr ufrrEd o1 gains

B. gfvie yliiekil o aed sl o1 faazu

C. yara el o1 AP

D. s @f gl iz deftbe Jedenrasma ol faem

E. e zeu 31 Fdida sigm siiz ik &I s

olfar 166 s1e famsedl 3 3 F7él Iz &1 aae Hifag ¢

[Question ID = 1393][Question Description = $2_qSNz_PG_SCY_Q43]

B, C, Dand E only/@= B, C, D, E [Option ID = 5569]
A, B, C and D only/dvaa A, B, C, D [Option ID = 557(]
D, C, Band A only/wweT O, C, B, A [Option 1D = 53571]
A, B, C and E only/@¥e A, B, C, E [Option 1D = 5572]

bl D

44) According to Manuel Castells, Informational Revolution is:
A. A new social order
B. A network society
C. Legitimation crisis

Choose the correct answer from the options given below:

Fegarer BacH D AR, FYorou Adeh wifer F

A. v rit FenfSis saaren

B. v scaad wast

C. Heltasaor w1 T

il R 1w Rroseal 3 31 78 swe w1 awer St :

[Question ID = 1394][Question Description = 52_qSNz_PG_SCY_Q44]

1. A and B only/@gm A 3fiz B [Option 1D = 5573]
2. Conly/@aer C [Option |D = 5574]

3. Band C only/@aa B 4tz C [Option ID = 5575]
4. Aand C only/@w@e A &tz € [Option ID = 5576]

45) Who said that monogamous marriage developed not to unite men and women in marital bliss, but to protect private
property?

A. Friedrich Engels

B. Karl Marx

C. Schulasmith Firestone

Choose the correct answer from the options given below:

&5 Kool wal a1 fp wwoa frms ygea, syl iz aioni @! dafdo doa d gism @ o ol afca el Fafy 6 250 oo @ oo g an ?

A, shrooforen
B. ot snast

C. ygenidarer BRIz
oiil few s1e fawedl d 3 w8l 3z oI wRs i ¢

[Question ID = 1395][Question Description = §2_qgS5Nz_PG_SCY_Q45]
1. Aonly/@aa A

[Option ID = 5577]
2. Bonlyfdm=TB

[Opticn ID = 5578]
3. Conly/avaa C

[Option ID = 5579]
4, A, Band C/A, B3z C

[Option ID = 5580]

46) Which of the three primary models of ethnic integration are adopted by multi-ethnic societies?
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A, Acculturation

B. Assimilation

C. Salad-bow| model

D. Melting pot

E. Cultural pluralism

Choose the correct answer from the options given below:
ag - gzl JAsT 51 g vdtaor & Bla A e grabes gfermst @1 o 8 7
A. a7 - AygliEger (vwoaielon)

B. seararcasor (eRifciors)

C. e - wAd gy (Hes - W Hise)

D. afyen (Rfecer dic)

E. arivpRrs sy

ol f8u a1 fRrpeal 9 A w18l Sne @l o=st ifans

[Question ID = 1396][Question Description = $2_qSNz_PG_SCY_Q46]
1. B,Cand D only/®== B, C, D

[Option ID = 5581]
2. A, Cand Donly/gaa A, C, D

[Option ID = 5582]
3. A,DandEonly/®am A, D, E

[Option ID = 5583]
4. B,Dand Eonly/daa B, D, E

[Option ID = 5584]

47} According to P.M. Kolenda, which family types were not discussed for a comparative evaluation?
A. Single person household

B. Sub-nuclear family

C. Juvenile family

D. Supplemented sub-nuclear family

E. Singular family

Choose the correct answer from the options given below:
Ul. Tz, BIciosT @ Mol ololicAD Jrdidd @ fere ufvarz o fosol YRl &l et ordl & a1f 3 7

A, vo oafis uf¥rar (Riee uifa aEaEscs)

B. 3u - umKbl uftarz (79 - sgaciir Bidel)

C. foroiz ufyar (enza Bhicd)

D. arglyzes 34U - wobrehl uf¥ar: (39 - syaciizrz Biiedl)
E. uder afrar

oflal 12w a1v taascal 3 3 7l Iz @1 o DI ©

[Question ID = 1397][Question Description = $§2_qSNz_PG_SCY_Q47]
1. Cand Eonly/asmr C iz E

[Opticn ID = 5585]
2. Aand B only/@am A B

[Option ID = 5586]
3. Band Donly/@ae B iz D

[Option ID = 5587]
4, Aand Donly/sam Ad= D

[Option ID = 5588]

48) Which of the following scholar(s) has not emphasized the term 'Underclass'?

A. J. Goldthorpe

prepp
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B. M. Savage
C. C. Murray
Choose the most appropriate answer from the options given below:

Rorateilaa & 3t Row / fva Rigm /7 Rigia a sehast (3is: aoam=) see wwaa st Rar g 7

A. St slicsia

B. wa Aaw

C. 3. 3

ol fou sre fepedl 3 3 w1l st @1 aws difene ©

[Question ID = 1398][Question Description = $2_qSNz_PG_SCY_Q48]
1. Aonly /e A

[Option ID = 558%]
2. Bonly/das B

[Option ID = 5590]
3. Aand Bonly/dam A4 B

[Option ID = 5591]
4, Conly/a@me C

[Option ID = 5592]

49} Which two of the following major greenhouse gases contribute to global warming?
A, Nitrous oxide

B. Carbon dioxide

C. Methane

D. Chlorofluorocarbons

Choose the correct answer from the options given below:

forzaifertiae 3 2t @tet - A1 <1 32t Aftas amwre # giy (scilaa arfifer) o fore sawcrit 8 ?

A, oirecH sifaaes

B. ®rdat =1f sffaarzs

C. Mdar

D. geidigeat widsr

offay e =1 Ryaseal A A F78 377 w1 aua Hitwe @

[Question ID = 1399][Question Description = 52_qSNz_PG_SCY_Q49]
1. Aand D/grma A sz D

[Option ID = 5593]
2. Aand C/daaAdz C

[Option ID = 5594]
3 Band D/gmm B ar D

[Option ID = 5595]
4. Band C/da B 3 C

[Option ID = 5596]

50) Michel Foucault has used which of the following concepts?
A. Governmentality and Bio-politics

B. Bio-politics and Lifeworld

€. Sovereignty and Discipline

D. Archeology of Discourse and Solidarity

Choose the correct answer from the options given below:

A ol A Rsfifan # A Roa amemonaii o1 su=ist Ko & ?

A, onsiRIar oz i - wsEi (hastdeRdl o5 arn - difeifeam)
B, dia - Il iz Sfiae dan (ari diftfeaa U3 asw acs)
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C. Fiygym 3iiz agenata (A sfiz Fxiftome)
D. yernfeas el s vormamar (srasdisl sine Bamiet ds Ak
oiiay few s1e famscul 3 31 wdl Sz @1 aga Hifag @

[Question ID = 1400][Question Description = §2_qg5Nz_PG_SCY_Q50]
1. Aand C only/eae A diE C

[Option ID = 5597]
2. Aand Bonly/asmm A4z B

[Opticn ID = 5598]
3. Band € enly/@aa B ditz C

[Option ID = 5599]
4, Aand D only/amT Az D

[Option ID = 5600]

51) Which two of the following are the cleanest cities of India, as per the Government of India Survey of 20207
A. Chandigarh

B. Indore

C. Navi Mumbai

D. Surat

Choose the correct answer from the options given below:

0 Fep: @ ad 2020 & ad s & s haldtiaa H 31 ola - 3 31 916z wWilles oo 9 8 7
A, dstere

B. sediz

C. ordl gt

D. wzm

il 18 =1u fameul # A 18l Iz o1 T BT 2

[Question ID = 1401][Question Description = §2_g5Nz_PG_SCY_Q51]

B and D only/@sae B &z D [Option 1D = 5601]
A and C only/@ae A 3z C [Option 1D = 5602]
A and D only/aswT A iz D [Option ID = 5603)
B and C only/axwT B dz C [Option 1D = 5604]

e ld B

52) Which of the following are the four institutional imperatives, according to Robert K. Merton?
A. Universalism

B. Particularism

C. Communism

D. Disinterestedness

E. Organized scepticism

Choose the correct answer from the options given below:
Tl B A D g hwafeaa 3 3 Sla g dArener degiai E 7
A, ardsiisare (glcaziiesa)

B. Rifdrcconumae (uféagalysa)

C. mrar; (Dayforsa)

D. seifirsh (Baseesetan)

E. orfga Formar (aslesss sofichiean)

oiiay few s1e fascul 3 31 wdl Sz @1 aua i @

[Question ID = 1402][Question Description = $2_qSNz_PG_SCY_Q52]
1. A, B, Cand Donly/daa A, B, C, D

[Option ID = 5605]
2. B,C,DandE only/daa B, C,D, E

[Option ID = 5606]
3. A,C,Dand Eonly/asaar A, C, D, E

[Option ID = 5607]
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| 4. A, B, Dand E only/gmer A, B, D, E

[Option ID = 5608]

53) According to Pippa Morris, the concept of the digital divide encompasses which three of the following distinct aspects?
A. Global divide

B. Local divide

C. Social divide

D. Democratic divide

E. Economic divide

Choose the correct answer from the options given below;
diar sitfrar & atorene, iR fenrerel (fafsed fRarss) 3 dier oot 21 fiser uag 8 ¢

A, APas st (sciad farss)

B. zemsier Rsnsiar (ewsar Rarss)

€. Tty Busea (FAee Bass)

D. sirwaifies Raser (AR oRass)

E. snflers R (swiciifie Ras)

ot R =10 Rraseal i A w718 3we w1 gwa St @

[Question ID = 1403][Question Description = 52_qSNz_PG_SCY_Q53]
1. A, Band C/amT A, B, C

[Option ID = 5609]
2. C,Dand E/f@me C, D, E

[Option ID = 5610]
3. A, Cand D/famma A, C, D

[Option ID = 5611]
4. B, D and E/@we B, D, E

[Option ID = 5612)

54) Which of the following are included in structuralist semiotics?

A. Seeks to look behind or beneath the surface of the text to discover its underlying organization
B. It explores the connotative meanings of the signs as realized in the codes and conventions

C. It is primarily concerned with textual organization

Choose the correct answer from the options given below:

IS Al (Feaase AfdsiiRan) 3 RooreT Tamer 2tar 3 7

A, urs & S = A Saen @ anfes foifga FieTaer @1 aar a=iR S 3

B. wf2er e ufeurél 3f aisn arepaa Fageorel @1 Ul eRIRT 2

C. $90T A™e FHEAq: MFIEH Horow A B

il R s1g Rraseal 9 31 78 309 wr axar Hifsre :

[Question ID = 1404][Question Description = 52_qSNz_PG_SCY_Q54]
1. Aonly/daea A [Option ID = 5613]

2. Bonly/@ae B [Option ID = 5614]

3. Aand B only/@am A iz B [Option ID = 5615]

4. A, Band C/A, B 3fiz C [Option ID = 5616]

553) A Hindu marriage ceremony consists of a series of ritual performances, which are:
A, Kanyadan

B. Prajapatya

C. Vivaha-havan

D. Pani-grahan

E. Sapta-padi
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Choose the correct answer from the options given below:
f3sg frans wivosn 3 fver srareorsit &t gjwror 8kft 8 7

A. Woget

B. gsmurx

C. e waot

D. uIir - s

E. st

ol f8u a1 fRrpeul 3 A w18l Se @l w=m ifans

[Question ID = 1405][Question Description = $2_qSNz_PG_SCY_Qb5]
1. A,B,Cand Donly/@aa A, B, C,D

[Option ID = 5617]
2. A, C,Dand E only/saear A, C, D, E

[Option ID = 5618]
3. B,C,Dand Eonly/daa B, C, D, E

[Option ID = 5619]
4, A,B,C,DandE/A, B, C, D, E

[Option ID = 5620]

56) In which type of reading, the Reader accepts the dominant codes and conventions but may question their use in terms
of his/her own experience?

A. Dominant reading
B. A negotiated reading
C. An oppositional reading

Choose the correct answer from the options given below:

uIo<r YA @5 30z bRl ot wiikor o § used a9 31l 391 @ 36RE W HIENS UT Joih AR @ Hdel 3 gea 3 Wl & HEIERT Uod
bl usa bifare ?

A, Qe uom

B. amifcru (SeReRs) uos

C. frrmsHt usar

ol 126 s1e faseal 3 3 7él Iz &1 aae Hifag

[Question ID = 1406][Question Description = $§2_qSNz_PG_SCY_Q56]
1. Conly/aas C

[Option ID = 5621]
2. Bonly/o= B

[Option ID = 5622]
3. Aonly/das A

[Option ID = 5623]
4. A, Band C/dam A, B, C

[Option ID = 5624]

57) Of the following, who has not worked on the functioning of the Jajmani system as a binding force among castes?
A. W. H. Wiser

B. K. Ishwaran

C. M. Opler

D. K. Gough

E. 5. C. Dube

Choose the correct answer from the options given below:

Fraaiteil3aa 4 3t Rraa snfernl o dig dgewi aa @ wu #d sEeeEl R & goriosor a3 ori ot Rom § 7
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A. Seoy oL AIEee
B. @. $oaver
C. ua. ez
D. @ siiw
E. var. 3t ga
ol fou s1e faepedl 3 3 1l St @1 aws difone ©

[Question ID = 1407][Question Description = $2_qSNz_PG_SCY_Q57]
1. Aand C only/sam A sz C

[Option ID = 5625]
2. Conly/@ma C

[Option ID = 5626]
3. Donly/awm D

[Option ID = 5627]
4. Eonly/das E

[Option ID = 5628]

58) Of the following, what are the causes of the weakening of the Nation-State?
A. Rise of post-national membership

B. Increasing significance of transnational corporations

C. Decrease of political interest in the rights of 'first nations'

D. The growing strength of supranational institutions

E. Smooth process of governance

Choose the correct answer from the options given below:

foraifertiae 3 2t Tiel - A 7%, DI THAR Dol AT BIIE 8 7

A, AT FAGTAAT DT ool

B. sieeisthr foremil @1 agan siewa

C. 'gert gl (B3 ovoivn) & arftrert 3 aodl IeEifas afirsfa
D. 'Fguz - olelelel’ HTarall &t agrdl orfip

E. orerer &bl eI giegen

il R s1e Rraseal 9 A 78 307 wr awa Hifere :

[Question ID = 1408][Question Description = 52_qsNz_PG_5CY_Q58]
1. A, Cand D only/asmT A, C 3z D

[Opticn ID = 5629]
2. B,Dand Eonly/d@a B, D afiz E

[Option ID = 5630]
3. A,Band Donly/drmm A, B3z D

[Option ID = 5631]
4, C,DandEonly/@am C, DAz E

[Option ID = 5632)

59) Clifford Geertz's framework of Symbolic Anthropology accepts which of the following?
A. Conception of culture in the non-semiotic form

B. Prime attention to the role of symbols in constructing the public meaning

C. Analysis of culture is on an experimental basis

D. Symbolic forms by which men communicate, perpetuate and develop their knowledge about and attitudes towards life
E. Role of anthropologists to interpret the guiding symbols of each culture

Choose the correct answer from the options given below:

forgmterfian A 31, grilproe gidsie @1 ewls sfice o1 Baam iz o & |
A, 317 - st wa d el &1 douen
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B. srer st fifdfa e 3 geliol &t sifdieer uz ygm= eams

C. Fizgpla o farccvaur griBee anenz uz s s &

D. widiee yru od mean 31 fagw Sliaa @ |13 # 36l 51 Az 3o gia sl #eghi oaep, oRm A1 el o 2
E. graw dAvmla & kidere il &1 wmeen ol 3 gifrsiori &I yfdror

oiil 18 =1u fameul # A 1l Iz o1 T BT 2

[Question ID = 1409][Question Description = §2_qgS5Nz_PG_SCY_Q59]

1. A, Band C only/@am A, B 3z C

[Option ID = 5633]
2. B,Cand D only/@am B, C 4z D

[Option ID = 5634]
3. B,band Eonly/daa B, D afiz E

[Option ID = 5635]
4, C,DandEonly/@am €, DA E

[Option ID = 5636]

60) Which two of the following concepts are related with R. Robertson?
A. Differences-within-Sameness

B. Flow of gatherings and Squeezing

C. McDonaldization and Ethnicization

D. Homogeneity vs. Heterogeneity

Choose the correct answer from the options given below:

forsarfer¥re 3 31 wiot - # sraaRond ane. Fadaa A Hdllm § 7

A. vwmam oy sliay 3ias

B. Soreiagl w1 yamg i 9o Adgul (FadiRen)
C. 3 shircdlon 3z genirreon

D. Fomiler iz e

sl 2v =re Repedl # 3 38 37 @1 o= ik @
[Question ID = 1410][Question Description = $2_qSNz_PG_SCY_Q60]

1. Aand Conly/da Adz C

[Option ID = 5637]
2. Aand B only/@am Az B

[Option ID = 5638]
3. Aand Donly/mam Adz D

[Option ID = 5639]
4, Band C only/®aa B &z C

[Option ID = 5640]

61) Which of the following characteristics of the caste system were NOT emphasized by G. 5. Ghurye?

A. Segmental division
B. Hierarchy

C. Open system

D, Achieved

E. Pollution and purity

Choose the correct answer from the options given below;

s, . g ol nfd coraven & foraiftifiaa 3 fpwr fagdreen uz e oréf feam o ?

A, FvERT fanser
B, sram

C. =t werazen
D. afefa

prepp
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E. auférg wd afayg
sy v =1y Ropeal 3 d 58 sav o oga bifere

[Question ID = 1411][Question Description = 52_qSNz_PG_SCY_Q61]
1. Aand Bonly/da Adn B

[Opticn ID = 5641]
2. Band E only/@am B dilw E

[Option ID = 5642)
3. Cand Donlyfuwemr C diz D

[Option ID = 5643]
4, Aand Eonly/@am AdR E

[Option ID = 5644]

62) Which among the following are NOT the works of Irawati Karve?
A. Hindu society: An interpretation

B. Hierarchy and Marriage Alliance in South India

C. Religious Consciousness

D. Kinship Organization in India

E. Yuganta: The End of an Epoch

Choose the correct answer from the options given below:

forgmterlian A 31 oia - 2l swaddl ©d &I ofa 78 & ?
A. Rog Arar ; Yo sealRorer

B, zrml us difya srerian 591 e 3f3em

C. Piftferms sl

D. Refdm sieterssiera sor sfaan

E. getin : ¢ gus 3iiw Yo wdia

olil 6w a1z [amedl d 3 7l 3z @I wRs it ¢

[Question ID = 1412][Question Description = §2_gS5Nz_PG_SCY_Q62]
1. Aand Donly/@aa A diz D

[Option ID = 5645]
2. Band C only/eam Bz C

[Option ID = 5646]
3. Dand E only/@aa 0 sz E

[Option ID = 5647)
4, Aand C only/fadmr Az C

[Option ID = 5648]

63) Which of the following are true about the sociology of consumption?
A. Focus on material culture

B. Focus on mass culture

C. New approach to the analysis of equality and political power

D. Largely emerging from capitalist societies

E. New approach to the analysis of inequality and political alignments

Choose the correct answer from the options given below:

FOIeT @ TSI @ an 3 Peafdsa A A vl A adt 87
A. siiferr wrasfer u? oo dar 3

B. srer - sivasfer a¥ wer Sian 3

C. Hamian 37 IEERe 9iR @ Rvcaur 3 o) 3uetd

D. aftrwiort: gshiket FAamsl # ST 3549 B &

E. srsamorn afiz Aeoiftce sossl 9 Rirchaer 2 o1 SUeTd
ol fou s1e faepedl 3 3 1l St @1 aus difene :
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[Question ID = 1413][Question Description = $2_qSNz_PG_SCY_Q63]
1. A,B,Cand Donly/@aa A, B, C,D

[Option ID = 5649]
2. B,C,DandEonly/ga= B, C, D, E

[Option ID = 5650]
3. A.C,DandEonly/@wa A, C, D, E

[Option ID = 5651]
4, A, B, Dand E only/sae A, B, D, E

[Option ID = 5652]

64) Which of the following aspect(s) isfare NOT associated with the works of M, N. Srinivas?
A. Statistical-view of caste

B. Field-view of caste

C. Functional unity of caste

Choose the correct answer from the options given below:

forrmfertian 3f 2 ®iel - AT / DioT - A Us vA. Wol. gfiforarar @ orl 31 A3t ot 8/ 7

A, anfa o1 Aillcadbi zfiRemin

B, onf @1 axflar (fiscs) eftemmn

C. sufa & goricrs gaar

oflal 12w a1v taascal 3 3 7l Iz @1 o DI ©

[Question ID = 1414][Question Description = $§2_qSNz_PG_SCY_Q64]
1. Aonly/@aa A

[Option ID = 5653]
2. Bonly/om= B

[Option ID = 5654]
3. Conly/@ma C

[Option ID = 5655]
4, Band C only/wa= B af= €

[Option ID = 5656]

65) A relationship between two quantitative or qualitative variables is considered significant according to the

¥2 (Chi-square) test at which of the following levels of error?

A, 1%
B. 2%
C. 3%
D. 5%
E. 10%

Choose the correct answer from the options given below:

y2 (T TEaRIz) USS0T 3 GlAR G HIRICHD 3T AUIHG 9 @& dia @ Fider B oo Faal uz sgvayyl mon i § ?

A. 1% gfe
B. 2% g
C. 3% gie
D. 5% gf?
E. 10% g
oiiay few s1e fascul 3 31 wdl Sz @1 aua i @

[Question ID = 1415][Question Description = §2_qg5Nz_PG_SCY_Q65]
1. A,B,Cand Donly/@aa A, B, C, D

[Option ID = 5657]
2. B,C,DandEonly/@m B, (,D, E

[Opticn ID = 5658]
I ACDandE onlyfdaa A, C, D, E

[Option ID = 565%]
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| 4. A, B, Dand E only/gmer A, B, D, E

[Option ID = 5660]

66) Match List | with List Il

List | List Il

Thinkers Works

A. Radha Kamal Mukherji |. Buddha and Kari Marx

B. G. S. Ghurye Il. Village, Caste, Gender and Method
C. B. R. Ambedkar lll. The Land Problems of India

B, M. N. Srinivas V. Social Tensions in India

Choose the correct answer from the options given below:

it -1 B 3 -1l 3 AR iR

et - ezezigl]

(Riaw) (wrl )

A. FT8N A FEaett Il. gz 65 ot st

B. sft. oo, o Il. Rds1, wRe, & Us Aus
C. 6. sz sdsoe lll. g &= giecw sifw Een
D. va. vor. ofiforar ]IV. FHIgrel €96 $ol $isan

iy Rv s1e faseal 3 31 A8t 3w gfem ;

[Question ID = 1416][Question Description = $§2_qSNz_PG_SCY_Q66]
. A-NLEB-IW,C-1L,D-1

[Option ID = 5661]
2. A-1,B-1¥,C-1,D-1I

[Option ID = 5662)
3. A-LB-IV,C-1,D-1I

[Option ID = 5663]
4. A-IV,B-I,C-1I,D-1

[Option ID = 5664]

67) Match List | with List Il

Ideas Explanation

|. Meaning determines reference and our

A. Analytic Hermeneutics : : £
Y understanding of the being of entities

B. Hermeneutic Realism .
Il. Methodology of Interpretation

lll. Combining analytic philosophy with

C. Hermeneutic ldealism .
hermeneutics

IV. Nature in itself and Science provides

D. Hermeneutics .
an explanation

Choose the correct answer from the options given below:

TRt -1 @ et -1l A ARE Hif

et -1 il
(lae) (=IE=)
A. froSuvcas |, s1ef Faceet o1 forzdaw @oear  aen za al3aea o

ofrFapisa (vafiea BYaY o1 dler aft & Sit sany sifdvey o Piedvor wyan
BT Fols 821 5

B. omcpeldfiare urm

wrenehars (siogfea . Brdrst w1 agpkrom
feofirsa)
C. omcpeldfiare urs :
. Redaerena solor w enrsapehitaiar @ e
scolars (sdsgRRa 3
siEaforsa)
D. onzarefafian=n IV, gier 7= € aen fisel cae= yed ool &

i Ru s1e faseal 3 31 A8t 3w giew
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[Question ID = 1417][Question Description = 52_qSNz_PG_SCY_Q67]
1. A-NILB-IV,C-1,D-1

[Option ID = 5665]
il Bt € N D i

[Option ID = 5666]
3, A-ILB-1,C-1IV,D- I

[Option ID = 5667]
4. A-IV,B-1I,C-1I,D-1

[Option ID = 5668]

68) Match List | with List Il

List | List Il

Concepts Sociologists

A. Proletariat fl. W. H. Wiser

B. Spirit of Capitalism Il. Emile Durkheim
C. Division of Labour I, Karl Marx

D. Exchange (Jajmani system) V. Max Weber

Choose the correct answer from the options given below:

TR -1 @ et -1l A ARE B

it - it -l
(sraemeon) R

A. IxigrRr |, swce U aelR
B. dsftarg &t Rrawsenar Il. warder goisw
C. 9 @1 fniaa 11, oret et
D. smerer - gorar (sraramel srarar) V. Jias Ags

oir foy are sl & 21 wdt saz giene |

[Question ID = 1418][Question Description = 52_qgS5Nz_PG_SCY_Q68]
1. A-1,B-1I,C-11,D-IV

[Option ID = 5669]
2. A-1L,B-N,C-1¥,D-I

[Option ID = 5670]
3. A-NL,B-IV,C-1l,D-I

[Option ID = 5671]
4, A-W,B-1,C-1,D-1I

[Option ID = 5672]

69) Match List | with List [l

List | List Il

Authors Books

A. J. W. de Wit  |. Sociology of Slum

B. Vinit Mukhija [Il. Shadow Cities: A Billion Squatters, A New Urban World
C. Robert Neuwirthllll. Policy, Poverty and Politics in Madras Sfums

D. M. S. Dhadave |IV. Squatters as Developers? Slum Redevelopment in Mumbai|
Choose the correct answer from the options given below:

2 -1 B 3t -1l A gAferm B ¢

et - | et -1
() (grs)
A, oL Secg s fae ||, AfYEER sife 3o

B. Kelia gidaenr I, 911 Bdlar @ w fafcraa saacd, v o srdor acd
C. wrad syfiet Ill. difereRt, diadl o5 diffiiRaw sa wgra Foa

D. ca v tea ||V, sades va 3acius ? rora fr3acadic so greas
ol B =1e Repedil & 3 718l 307 g, :

[Question ID = 1419][Question Description = $2_qSNz_PG_SCY_Q69]
1. A-LB-ILC-,D-I¥

[Option ID = 5673]
Bohos B <N Con D

[Option ID = 5674]
3. A-IV,B-1,C-1,D- 1l
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[Option ID = 5675]
4, A-1,B-1,C-1¥,D-1

[Option ID = 5676]

70) Match List | with List Il

List | List Ii
Authors Books
A. Ann Qakley |. The Future of Feminism

B. Erwing Goffman Il, The Captured Womb: A History of the Medical Care of Pregnant Women
C. Richard Jenkins l. Forms of Tatk

D, Sylvia Walby IV, Social ldentity

Choose the correct answer from the options given below:

it -1 B 3 -1l 3 AR iR

et -| ot -l
(<o) [(ga)

A, ot A || & wgE sl DR

B. sfder Il. & gy g @ @ By site § afdoa B sife gerEic
sitwior

C. g Swfra |Il. wod e s

T ‘w.:«-hmaans%ﬁa

of fo a1e fascal & 21 5t saz giene ¢

[Question ID = 1420][Question Description = §2_qg5Nz_PG_SCY_Q70]
1. A-U,B-1,C-1,D-1IV

[Option ID = 5677]
2, A-I,B-11,C-1¥,D-1

[Option ID = 5678]
3. A-IV,B-1,C-1I,D-1I

[Option ID = 5679]
4, A-N,B-IV,C-1,D-1

[Option ID = 5680]

71) Match List | with List Il

List | List I

Thinkers Concepts

A. Robert Michels |. Power as Domination

B. Steven Lukes 1. Power as Dependency and Domination|
C. Anthony Giddens lll. The Iron Law of Oligarchy

D. Michael Foucault IV. Power as Human Agency

Choose the correct answer from the options given below:

I -1 B it -1l A gAfera B ¢

axeht -| SxEtt -1l

(i) |(3men=zom)

A. s Prdren I. g we wu 3 orfip

B. et coat 1. erfes <t Biskear avem gsgrar & s

C. wooilcht PrRva 1. sreer i o w1 o

D. AE®Gd Gl IV. s aifércon (wsizh) & wu & arfés

oftdr v 1o Rraseal & A =8 saw gfene ¢

[Question ID = 1421][Question Description = 52_qSNz_PG_SCY_Q71]
1. A-LLB-IIl,C-1IV,D-1l

[Option ID = 5681]
2. A-IL,B-1L,C-N,D-IY

[Option ID = 5682]
3, A-IV,B-N,C-1,D-1l

[Opticn ID = 5683]
4. A-NL,B-IV,C-1,D-1

[Option ID = 5684)
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72) Match List | with List Il

List | List Il

Author Books

A, C, Geertz |. Staying Alive: Women, Ecology and Development

B. A. Agarwal 1. Agricultural involution: The Process of Ecological Change in Indonesial
C. V., Shiva Ill, Environmentality

D. G. A. Cajeta IV. Indigenous Community: Rekindling the Teaching of the Seventh Fire

Choose the correct answer from the options given below;

el -1 Bt et -1l 3 s iR

och -| i -l
(o) [(gz)
A. 2t Béwr I 221 vanrser @ ditor seidich g Yaaiic

|II. wafleeoe sedlcggld ¢ © YRIA 3w swidiferma oA sol

B. T,

C. &, Rmr Il sorarienicRidt
D. sit. w.
Brale

ofta v =10 frwseal & 7 A saz ofow

[Question ID = 1422][Question Description = $2_qSNz_PG_SCY_Q72]
1. A-LB-ILC-1,D-I¥

[Option ID = 5685]
2. A-IV,B-N,C-1,D-I

‘Iv.mmﬁ:ﬁﬁﬁﬁiﬂaﬂﬁm&ﬁmaﬁum

[Option ID = 5686]
3. A-ILB-N,C-1,D-I¥

[Option ID = 5687]
4, A-NL,B-1,C-1,D-IV

[Option ID = 5688]

73) Match List | with List Il

List | List Il

Books Authors

A, Social Change I. Neil J. Smelser
B. The Sociology of Economic Life ]II. William J. Goode
C. The Family lll. Wilbert E. Moore
D. Social Stratification: The Forms and Functions of Inequal ity]IV. Melvin Tumin

Choose the correct answer from the options given below:

et -1 @ et -1l A AR B

it -| it -1l
(gza) ()
A. Zeret st I, <fie1 91 TR
B. ¢ ARG dhe seEiiie asw t;ﬁiﬁzma
C. g Bfireh . Brered & a7
D. serer Fielibdiomet @ © wied U3 wavie AiG ‘IV.

=

ofR fon a1e sl & 21 w1t saz gione ¢

[Question ID = 1423][Question Description = §2_qgSNz_PG_SCY_Q73]
1. A-UL,B-1L,C-1,D-IV

[Option ID = 568%]
2. A-1L,B-IL,C-U,D-I¥

[Option ID = 5690]
3. A-IV,B-1l,C-1l,D-I

[Option ID = 5691]
4, A-N,B-1L,C-1,D-1I¥

[Option ID = 5692]

74) Match List | with List Il

- |List | List I
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Books lAuthors

A. The Elementary Forms of Religious life I. M. N. Srinivas

B. Religion and Society among Coorgs of South India|||. A. Krober

C. The Science of Culture |III. Emile Durkheim|
D. The Nature of Culture |IV. Leslie White

Choose the correct answer from the options given below:

TRt -1 @ et -1l A ARE Hif

oredt -1 agedt -

(gzadb ) (2reeD)

A. § oleridl wet sifte il asw |. oo oot ofiforars
B. Relirel vs Al wiivl ol ofie ssa diden Il u @ar

C. ¢ A=A Ai® Bz N, worder gefem

D. 5 o JifE wea? IV. areht e

ofr fon a1e famscal & 21 wdt saz giene ¢

[Question ID = 1424][Question Description = §2_qg5Nz_PG_SCY_Q74]
1. A-1,B-1,C-1,D-IV

[Option ID = 5693]
2, A-NLB-1,C-1V,D- I

[Option ID = 5694]
3. A-1L,B-1,C-1I,D-IV

[Option ID = 5695]
4, A-IW,B-NLC-1,D-1

[Option ID = 5696]

75) Match List | with List Il

List | lList 1l

Book/Works ISaciolngiStﬁ

A. Research Methods in Social Relatiﬂnsll. Goode and Hatt

B. Methods in Social Research 1. Schuessler and Mueller
C. The Rules of Sociological Method |III. Seltiz, Jahoda et. al.

D. Statistical Reasoning in Sociology |IV. Emile Durkheim

Choose the correct answer from the options given below:

2 -1 B 3t -1l A Ao B

et -| et -1l
(7151 / o) (st gt}

A, Trzvd Frerga so1 AR frdoron l. 3 afiz 8

B. drergar o1 2itorar frard . o us e

C. g woa 3iis ARrikiRoa dos . 3Res, sérsr sl

D. F¥Rficwa H=fer s s IV. g g

ofta v =10 frwseal & 7 A saw ofow ¢

[Question ID = 1425][Question Description = 52_qSNz_PG_SCY_Q75]
1. A-LLB-ILC-1,D-1IV

[Opticn ID = 5697]
2. A-NI,B-1,C-I¥,D-1I

[Option ID = 5698]
3, A-IL,B-1,C-1¥,D-1

[Option ID = 5699]
Aoohi= ML B WG 1,05

[Option ID = 5700]

76) Arrange the following three stages proposed by August Comte in the proper sequence

A. Theological stage
B. Positive stage
C. Metaphysical stage

Choose the correct answer from the options given below

3erEe wise of orafifaa die awv gzqa ot 8, 308 78 Tw d caafiem $ifem ¢
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Your Personal Exams Guide



www.prepp.in .repp

Your Personal Exams Guide

A. erforila avor
B. forareenas ooy
C. aradfiarie qem
ol fou s1e faepedl 3 3 1l St @1 aws difone ©

[Question ID = 1426][Question Description = $2_qSNz_PG_SCY_Q76]
1. A, B, C

[Option ID = 5701]
2. A, C,B

[Option ID = 5702]
3. C,B, A

[Option ID = 5703]
4. B,C, A

[Option ID = 5704]

77) Arrange the occurrence of the following technological revolutions in chronological order from the earliest to the latest
A, Printing revolution

B. Green revolution

C. Industrial revolution

D. Bio-technological revolution

Choose the correct answer from the options given below
Toramie¥an GieniBrb! Giferil ol 3o Blel @& DICKpHAIGRIR oaliard dHife ¢
A. g5 it

B. af¥m mifar

C. =B mifer

D. S - gienBrbt mifar

oflal 1w a1v taascal 3 3 7l Iz @1 o DI ©

[Question ID = 1427][Question Description = $2_qSNz_PG_SCY_Q77]
1. A, B, D, C

[Option ID = 5705]
2. A,C,B,D

[Option ID = 5706]
3. B,C,D, A

[Option ID = 5707]
4. C, A B, D

[Option ID = 5708]

78) Give the correct chronological sequence of the works of B. R. AmbedkKar.
A. Who Were the Shudras?

B. Annihilation of Caste

C. Castes in India: Their Mechanism, Genesis and Development

D. The Untouchables: Who Were They and Why They Became Untouchable
Choose the correct answer from the options given below

dl. . 3T Ol Gl © JorD A8l WeRpARAR waaiFad Bifse ¢

A. g3 9gI

B. uferizcioret siip wre

C. oA 3o 33 | 33, dokm, sl s 3aaudic

D. g sreictiacd | g @ ¢ US EIE ¢ e sercdaca

ol 8u a1e Rrpeal 3 A w16l 30w @l o=m ifans

[Question ID = 1428][Question Description = $2_qSNz_PG_SCY_Q78]
1. B,C, A, B

[Option ID = 570%]
2. C,B,AD

[Option ID = 5710]
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| 3. A,B,C,D

[Option ID = 5711]
4. B, D, A, C

[Option ID = 5712]

79) Arrange the following activities in sequence as per their occurrence during a year

A. World Forestry day

B. World Heritage day

C. World Environment day
D. World Ozone day

E. World Population day

Choose the correct answer from the options given below

FrrafeilRaa oriwodl @ ad 3 Jord see sIel & w18 @ A caaiaa Gifbm @
A. R ga1 fGa=

B. fra Rrrm Rax

C. fira vafaeor Ra=s

D. frea aitsiter Ras

E. fra sreien fas

oiiay feéw s1e famscul 3 31 wdl Sz @1 adga $ifae @

[Question ID = 1429][Question Description = 52_qgS5Nz_PG_SCY_Q79]
1. A,B, C,E, D

[Option ID = 5713)
2. A,C,D,B,E

[Option ID = 5714]
3. A, D,B,EC

[Option ID = 5715]
4, D,A, B, C, E

[Option ID = 5716]

prepp
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80) Arrange the following states according to their level of urbanization in descending order as per the Census 2011

A. Himachal Pradesh
B. Tamil Nadu

C. Gujarat

D. Haryana

E. Punjab

Choose the correct answer from the options given below

fBreaferdoe a5t & ad 2011 3 & 518 Sroewren @ orAR Edwor & Jad Ta3 ®) 3aAd o A vaalaa Hifde :

A. Banae qoor
B. aldroenz

C. sprr

D. sfvmnon

E. dane

il R s1g Rraseal 9 1 78 307 wr awa Hifsre :

[Question ID = 1430][Question Description = 52_qSNz_PG_SCY_Q80]
y 95 - o

[Option ID = 5717]
2. A, C,D,B, E

[Option ID = 5718]
3, C,D,B,AE

[Option ID = 5719]
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| 4. E,D,C, A B
[Option ID = 5720]

81) Within the feminist movement, a wide and diverse range of theories have emerged. Arrange these perspectives in sequence

A. Marxist feminism

B. Post-Modern feminism
C. Liberal feminism

D, Black feminism

E. Radical feminism

Choose the correct answer from the options given below

orrftandt aniterar 3t g T ek gEene @ Digia Be o §, o afest o 3@ o # el Gifen
A, FrreEt amdars

B. a7 - angffenn siang

C. o s

D. sam {s1e8m) afiae (=A@ wiifEem)

E. 391 sflae

it fan 29 frepedt 3 3 32 w2 o owa Hifem :

[Question ID = 1431][Question Description = 52_qSNz_PG_SCY_Q81]
Vool Gy B B D

[Option ID = 5721]
2. E,D,C, B, A

[Option ID = 5722]
3. G,AED,B

[Option ID = 5723]
4. B, A, E, C, D

[Option ID = 5724)

82) Arrange the following functionalists in chroneclogical order as they have contributed
A. A. R. Radcliffe Brown

B. B. Malinowski

C. E. Durkheim

D. R. K. Merton

E. Talcott Parsons

Choose the correct answer from the options given below

formteilian goriaiRd oI 3o GrRI Bu 510 dlsce @ Diigdl © e caalien $ifas ¢
A, . oz Fsidaw - gige

B. <. aftwiasbt

C. & gmisn

D. amz. & &a

E. erawic uriea

olil 6w a1z [amedl d 3 7l 3z @I wRs it ¢

[Question ID = 1432][Question Description = $§2_qSNz_PG_SCY_Q82]
1. B,C,A, D, E

[Option ID = 5725]
2. A,D,B,CE

[Option ID = 5726]
3. C,B, A E,D

[Option ID = 5727]
4, B, A C,D,E

[Option ID = 5728]

prepp
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83) Arrange the writings of Durkheim in chronological order
A. Moral Education

B. The Division of Labour

C. The Rules of Sociological Method

D. Suicide

E. The Elementary Forms of The Religious Life

Choose the correct answer from the options given below

gHiza &t opaitna qierl o 738 wrermmeaar cmfaa Hifse
A. Fiiver el

B. ¢ Rftmma diw dae

C. & oA sifp AdrRIdifSrra deas

D. Fgzss
E. & okl oo siiw & RfaBrma asw

sl fow oo fRepodl # 3 A8 s @1 o=m Wi

[Question ID = 1433][Question Description = $2_qSNz_PG_SCY_Q83]
1. D,E,C, B, A

[Option ID = 5729]
2. C,B,E, A D

[Option ID = 5730]
3. B,C,D, E A

[Option ID = 5731]
4. A, C,D,B,E

[Option ID = 5732]

84) Arrange the Yarna Ashrams of the Hindu way of life in the correct sequence
A. Grihastha Ashram

B. Sanyas Ashram

C. Brahmacharya Ashram

D. Vanaprastha Ashram

Choose the correct answer from the options given below

feog, shaer ughr & s, forafafiaa o w18 ou 3 crafiew Hifsmw |

A, s[ETer angA

B. Hoars angHA
C. gerr! angmm
D. aSreIgzer smop
ofly R s1g Rraseal 9 31 T8 307 wr awa Hifere :

[Question ID = 1434][Question Description = 52_qSNz_PG_SCY_Q84]
1. A, B, C,D

[Option ID = 5733]
2. D,C, A B

[Option ID = 5734]
3. BADC

[Option ID = 5735]
4. C,A, D, B

[Option ID = 5736]

85) The Exchange Theory was propounded and/or advanced by which one of the following sociologists?

A. B. Malinowski
B. P.M. Blau

prepp
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C. A. R. Radcliffe Brown

D. G. Homans

E. Talcott Parsons

Choose the correct answer from the options given below
fosftifan d 3 Rra wemsren3<Ri & fbem Rigia o gada Rewr & aen 3t ane) agrn & ?
A. @t dftelasbt

B. dl. va. ez

C. v 3w s gew

D. sit. stees

E. crempic urisa

i) f8u a1e Rrpoal 3 A w16l Sne @l w=s ifens :

[Question ID = 1435][Question Description = $2_qSNz_PG_SCY_Q85]
1. A, Band C/A, Baz C

[Option ID = 5737]
2. A, BandD/A, BazD

[Option ID = 5738]
3. B,C,Dand E/B, C, Dl E

[Option ID = 5739]
4. A, C,DandE/A, C, DaizE

[Option ID = 5740]

86) Given below are two statements

Statement I; According to A. van Gennep, a direct rite is a curse or a spell,

Statement II: Direct rites are designed to produce results immediately, without intervention by any outside agent

In light of the above statements, choose the most appropriate answer from the options given below

ofter &1 ot Re smg B -

@erel - | 1 U, 361 SO @ AR BIE Yrasl 3ie[tole] (SRI¥aT Iee) aIf Afirema sierar aeemafly (o) dar 2
el - 1| ; yrasl aesors it aed sfireal (wsie) & eraaa & e acera ufma & quifyy 2 fou ot &
FURD sl & el ¥, il Ry 71 frecdl 3 A FE 3ugEs 3R @ o Hife ¢

[Question ID = 1436][Question Description = $§2_qSNz_PG_SCY_Q86]
1. Both Staternent | and Statement [l are correct/wem | iz 1l el =8t &

[Optian ID = 5741]
2. Both Statement | and Statement |l are incorrect fowem | iz || 6l s &

[Option ID = 5742)
3. Statement | is correct but Statement Il is incorrect/aerr | 7 & , fireq e || sewr & |

[Option 1D = 5743]
4, Statement | is incorrect but Statement Il is correct/wem | 7 2, fveg wem |l =22t 8

[Option ID = 5744]

87) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Eradicating poverty in all its forms including extreme poverty is the greatest global challenge

Reason R: It is an indispensable requirement for sustainable development

In light of the above statements, choose the most appropriate answer from the options given below

oflkl G e Ru s & ;

sfirpera - (A) ;| an=ifine Rrelorar afga w9t ywr & Ritlern ©1 g3 oo zaff?ne geid
o1Ivl - (R) ; @1z waa foeora & fere amaferd stavamar

SURITH oGl O AD 3, ik KU oo Rl 3 21 763 SURTs a0 &I aJe Hifely |

[Question ID = 1437][Question Description = 52_qg5Nz_PG_SCY_Q87]
1. Both A and R are correct and R is the correct explanation of A/ewea | diz |l S a8 £

prepp
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[Option ID = 5745]
2. Both A and R are correct but R is NOT the correct explanation of A/mem | 4z || et som &

[Option ID = 5746]
3. Ais correct but R is not correct /o | =2t 2, Foeg @ (| 7o

[Option ID = 5747]
4. Ais not correct but R is correct/@em | sier &, fsog waer || ok

[Option ID = 5748)

88) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Democracy has become a global force; while it has become widespread, but all is not well with this political
system and it has got into some difficulties almost everywhere

Reason R: For its failure, it is not the institution itself that is to be blamed; it is the way it has worked or the way its working
has been distorted and manipulated by those in power

In light of the above statements, choose the correct answer from the options given below

oIkl §l e Ru s 3 :

werd - | @ clpr] v e 9 3 srn & gElfl Ag KIa WU A gEIind 8, W $9 IEehiirp =Iasen A A9 B She oildl o)t 361 8 a9l YRE
32 016 5 wIarel § §F o TF ofoesal ar @ E

oo - |l ; =1 =razen &1 inbaar @ ée 33 Fizen o /g odl &z sn wan, afee e ity 21 soey ot foear 8 aemar faa fafdr 3 soas
DRIV @ FAT eniRll ZRI A1ST RIS 3R & 37 5316 ToRlision U= 530 &

FRTE wYell D ke A, okl By s1e RKoodl # A J93 Iugyr 303 w1 wad Gt ¢

[Question ID = 1438][Question Description = $2_qSNz_PG_SCY_Q88]
1. Both A and R are true and R is the correct explanation of Afwoem | sz || St =8 £

[Option ID = 5749]
2. Both A and R are true but R is NOT the correct explanation of A/mem | 3z || S5 simm &

[Option ID = 5750]
3. Ais true but R is false/mem | 7t &, Rvog wem | oen &

[Option ID = 5751]
4. Ais false but R is true/oes | sa &, feog oo || 38t 8

[Option ID = 5752]

89) Given below are two statements

Statement I: Some major concepts and approaches about social change in India can be grouped as Sanskritisation and
Westernization

Statement |l: The term Sanskritization was used by M. N. Srinivas to describe the process of structural transformation in the
Indian social structure

In light of the above statements, choose the most appropriate answer from the options given below

ol <t werer Ru s & |

werd - | s d antere ufada @ g aatnzvnsd aen 3ursml o degiimeu qen aeficew d osfifeon fieen om Ioan &

werel - || ¢ Al v 1 FU=IRT 3. vol. ofiforara o snzelier Fizaen 9 Fizaenca wuufrada &t gfagar o avla o & oy fovar
IRITE el o Ae d, i B o1e ool 3 3 A« Ju=rs saz oI 96 Hifsw |

[Question ID = 1439][Question Description = 52_qgS5Nz_PG_SCY_Q89]
1. Both Statement | and Statement [l are correct fesem | A0z || St =8t 2

[Option ID = 5753]
2. Both Statement | and Statement [ are incorrect/wsem | iz 1| Siel ot &

[Option ID = 5754]
3. Statement | is correct but Statement Il is incorrect/wemt | 2t 8, froy oo || orewT

[Option ID = 5755]
4, Statement | is incorrect but Statement [l is correct/wsem | st &, fomg oo | =28t &

[Option ID = 5756]

90) Given below are two statements
Statement I: According to A, Schutz, the world of everyday life is not permeated by the epoch of the natural attitude
Statement Il: All the objects of the Social World are constituted within a framework of familiarity and pre-acquaintanceship

In light of the above statements, choose the most appropriate answer from the options given below
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ofl §t weast Rusre 3 :

et - | 1 v, 9Igw & g, gl sfigf @ o grr S shaar &t gferar aeswer w8t gt 8
weret - || @ wnRre gl Gt 2ft aeqe yRma aen g - GRRI & sideta i) & iz word! §
I wucll B ks 3, A R e Riwod # A 3@A IwRgrs 30w ©1 a9 SR

[Question ID = 1440][Question Description = $2_qSNz_PG_SCY_Q90]
1. Both Statement | and Statement [l are correct/mwem | A2 |1l =l ==t &

[Option ID = 5757]
2. Both Statement | and Statement [l are incorrect/sam | 7 1| St siom £

[Option ID = 5758]
3. Statement | is correct but Statement Il is incorrect/wem | 72t 2, fveg wem | o &

[Option ID = 5759]
4. Statement | is incorrect but Statement [l is correct/mam | srem 8, ey wuw || 348 2

[Option ID = 5760]

Topic:- Sociology_Set2_B

1) Read the given passage carefully and answer the question that follows

From the seeming irrelevancies of this archaeological gossip, some concrete meaning for the ambiguous term "knowledge”
should yet have been emerging. It has at least been distinguished from instinctive "responses” and from what popular
psychology terms "memories”, as long as such remain personal and private, The knowledge embodied in the hand axes of
the Old Stone Age was both useful and public, It enabled our remote precursors or ancestors to make serviceable tools such
as they needed to supplement the deficiencies of their limbs and other bodily organs. And it was communicated to and
transmitted by all human beings who made hand axes for thousands of generations. Thus this knowledge was preserved -
but not only preserved. It was also enriched and extended. During the two or three hundred years over which hand axes
were being made, archaeologists can detect improvements in their form and changes in the techniques of manufacture.
More efficient tools were produced with less effort. These progressive changes reflect additions to knowledge, discoveries
and inventions that were made public and incorporated in the traditional lore or knowledge used, transmitted and
maintained by Old Stone Age societies. Of course, the progressive change observed in archaeologists’ "hand axes” is just one
case of the general technological progress from simple manual tools of stone and bone to complicated machines made of
metallic alloys and other artificial substances and operated by electrical or even nuclear power, It is this technological
progress that has secured for Homo sapiens the victory over all competitors in the evolutionary race for survival. But
technological progress in its turn is just the result and consequence of the accumulation of knowledge. That accumulation
was possible just because human knowledge is public; one member of the species can communicate to another what he has
found out.

Rrafilan seie @ tamgde ufge siiz Ry sm ges o a0z St .

‘siet’ Tl IFUeE AR B e grrara Fdeht 53 gl & agrRiBiear o SRt ge FuRps aref T soon et arbt 8 s91 wew 'YReiRemeil g
o I T el fooan sen & 52 yling wAelfaster sraanmzersi 'THRE 3 e fioar sen 8 sz A Ja daitee e forsh acn 8 grelter gzaz gt
aF FIe O iz A 51 e oAl s adsferr e saret s gr © gdenrl srerar ges @Y Il SRl @ woner # FsrRIar @t A=
Jo¢ 3ol 9rflT & aradl afiz 3l B Talyal B gl Bl o 6w sordb! amagapar it 531 3o il dEll BT dAalerl o gl iz seialsa
o s faioeiol a1er & &eiis ot fornion P s g s er o1 Hefdra fsan srn - ueq 321 daa Hxfd & ol feen R TH e @
ool 3112 o 9it e srim € arvran it i e51R ad bt amaffl 3 gerrraleg aone 310 o1 @ o613 U 3 gu LR @l o Ioal 8 Sl Jorh
foraitor <6t Aol 3 ufyade =1 it dg wom & Ta Qe g & aga Yrdt et o st feen s 31 gemedt uivadsr s 3 agiad &,
Eitsll @t e anfirewtsd o sold & 3o ardsifors fean swir en aen aduwn s, Bren (sragffen) sieran gaer sier & wenf3a foan swen sy 568
yriial gz geila Aarsl 3 sramais sz rmwmm [een sen Qracalds] G 83 91 53 Qirdl ufrada 'srer o1 geiisT A oo A6 adweiid]
fereeraT @1 ardeT 2 iz ae oft a1 3 aenm 1w ure A1z EE @ wIa sdiene A o agiine] 2 foifdia sifea sofiel aw sie oftpr aerelt 31 foifdia
#oficl e el orR1 iz & aw kb smrblr Seil 11 ocrRn sl 2 A9 96 mvelikbl YRIi & BrTet st genfel @l siiksl #aras @ fong sui
gfergteat 2t areras snfa &1 siia o gioiua fear 2 azeq adoild! o sl siru 3 <61 Fadel o uftons iz gena 2 a8 el safie
HH e wiids wor ol Aedsiforas e, el off gEntey T wos e et sifSia Ser W eI Ao gt wear e

Serviceable tools were needed to supplement the deficiencies of
& sfionz 3108 yorilst 3 amar s A B 3ot smaomramn fradt wfial ot gft wwa & forg o7

[Question ID = 1441][Question Description = $2_qSNz_PG_SCY_Q91]
1. Bodily organs/erilz o5 srmma (3ie1)

[Option ID = 5761]
2. Knowledge/sma

[Option ID = 5762]
3. Machines /#gier

[Option ID = 5763]
4. Nuclear power /amrbRT vt

[Option ID = 5764]
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2) Read the given passage carefully and answer the question that follows

From the seeming irrelevancies of this archaeological gossip, some concrete meaning for the ambiguous term "knowledge"
should yet have been emerging, It has at least been distinguished from instinctive "responses” and from what popular
psychology terms "memories”, as long as such remain personal and private. The knowledge embodied in the hand axes of
the Old Stone Age was both useful and public. It enabled our remote precursors or ancestors to make serviceable tools such
as they needed to supplement the deficiencies of their limbs and other bodily organs. And it was communicated to and
transmitted by all human beings who made hand axes for thousands of generations. Thus this knowledge was preserved -
but not only preserved. It was also enriched and extended. During the two or three hundred years over which hand axes
were being made, archaeologists can detect improvements in their form and changes in the techniques of manufacture.
More efficient tools were produced with less effort. These progressive changes reflect additions to knowledge, discoveries
and inventions that were made public and incorporated in the traditional lore or knowledge used, transmitted and
maintained by Old Stone Age societies. Of course, the progressive change observed in archaeologists’ "hand axes" is just one
case of the general technological progress from simple manual tools of stone and bone to complicated machines made of
metallic alloys and other artificial substances and operated by electrical or even nuclear power. It is this technological
progress that has secured for Homo sapiens the victory over all competitors in the evolutionary race for survival. But
technological progress in its turn is just the result and consequence of the accumulation of knowledge. That accumulation
was possible just because human knowledge is public; one member of the species can communicate to another what he has

found out.
forraferfiae srerion o saragda ufee iz v sre gear o gaz e :

'stier’ @Bt arraee sraenzon oy e gaara Adel s wal & ageEfrrar o Swd 5e sazgs e o sner apht adbt 3 59 ase gReifRrmei grr
W I TH I T srn 2 531 yRig #wilitsme sraensvsil ‘Tgiei’ 3 soer Rear srn 2 sz 3 Ja $aftow iz Bl & 3 gredler geve 391
@ ar1er o gelis A ST el Su=eh sz Idwfore e S3el EAIE g © geeniir arerar gdsil 1 Uil sl @1 gonol 3 FerIr &1 a4l
352 Iast 9riT D Rl 3fi7 aiell Bl wasiil ©1 g1 weal & e sord! smaersar ot $31 Far Tl aiell g Haferl W grniya 3 seaiafa
fosen srn foregiol w19 & geils ot forafm fpanr 391 Yoz 551 s @1 Ff3a o sr - uwey 321 daa d:fda & ol feen srn 33 S6I &1
Foorgel 3T frane it Bean srn 1 srevar o A sy ad &t srafln # guarali gone s s @5 52013 wa A e gend o) g5 W § S Jad
foiator 6t aeiiar 3 ufrader = it g I @ W g & sga Quurdt el o foiator fisen srn A et ufrads sma 3 agiad o,
Sl DY den anfaesrt Bt gorfa & fored wduifors fasan srm o den udue a1, faen (Soreyfer) sierar yryes @i 3 wanfaa fasan srn il wod
grils gae geitel s # geaimte iz e fea sren quacafic! gr S a1 s Qe afyade s o1 suisT AW oo AEes] ddpelebt
forpra 1 s € 2T ag o1t Gren 3 9oy I urer A1 5591 @ e e A cibe dngldg] A foifdta siféa wofll a® it i uemeit 3t fmfia
aofict 5158 R ot iz wwsl o B snenbler svaif o aoen s 3 @1 g meooltd® geifer 3 Braet swora genfer @ shiaar mmas @ fore i
gfergle=il 31 sere sufa &l offa of gioiBra fioar 8 useq adeitd! e rue! ara # Sie Fdcel o ulvns iz gana & ag dHaod safee
FHd o1 a4l Arord Siiel Aldsiters o, ozt off genfa o oo I sruo! Al Siol o gAY db gaied o oar

Technological progress is the result of the accumulation of
ficboildh! faeTa fipaas Fiartar T aftons 2 7

[Question ID = 1442][Question Description = 52_qSNz_PG_SCY_Q92]
1. Wealth /==y

[Option ID = 5765]
2. Knowledoe/sma

[Option ID = 5766]
3. Surplus/aférgg

[Opticn ID = 5767]
4, Raw-material/zm=ft

[Option ID = 5768)

3) Read the given passage carefully and answer the question that follows

From the seeming irrelevancies of this archaeological gossip, some concrete meaning for the ambiguous term "knowledge"
should yet have been emerging. It has at least been distinguished from instinctive “responses” and from what popular
psychology terms "memories”, as long as such remain personal and private. The knowledge embodied in the hand axes of
the Old Stone Age was both useful and public, It enabled our remote precursors or ancestors to make serviceable tools such
as they needed to supplement the deficiencies of their limbs and other bodily organs. And it was communicated to and
transmitted by all human beings who made hand axes for thousands of generations. Thus this knowledge was preserved -
but not only preserved. It was also enriched and extended, During the two or three hundred years over which hand axes
were being made, archaeologists can detect improvements in their form and changes in the techniques of manufacture.
More efficient tools were produced with less effort, These progressive changes reflect additions to knowledge, discoveries
and inventions that were made public and incorporated in the traditional lore or knowledge used, transmitted and
maintained by Old Stone Age societies. Of course, the progressive change observed in archaeologists’ "hand axes" is just one
case of the general technological progress from simple manual tools of stone and bone to complicated machines made of
metallic alloys and other artificial substances and operated by electrical or even nuclear power. It is this technological
progress that has secured for Homo sapiens the victory over all competitors in the evolutionary race for survival. But
technological progress in its turn is just the result and consequence of the accumulation of knowledge. That accumulation
was possible just because human knowledge is public; one member of the species can communicate to another what he has

found out,
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forraferfiae srerion o saragda ufee iz v sre gear o gaz e :

'stier’ @Bt arraee sraenzon oy e gaara Adel s wal & ageEfrrar o Swd 5e sazgs e o sner apht adbt 3 59 ase gReifRrmei grr
d A @ 301 oAl sen & 531 YRLy Aclliasia saanzviadl ‘TR 3 et ear srn g diiz A 7a dakee iz el divn 2 grlla geeae 391
aF FieL O 3edis A 51 e oAl s adsferr e w6t e gr © gdenrl srerar ges @Y Fuied sieRl @Y woner H FsRIer @t a=iie
368 3ol 9 @ Rl 3 sl Bl oyl Wl g el @ fere sordhl anaerear ot 531 3o it aell geT dAaleri W gy aifie svaiaia
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Ioorrol 311 femee 9it e srim €)Y arvran e i e5IR add bt amaffl 3 gerrraleng aoie 310 o1 @ o613 U 3 gU AL @l G5 oAl § Sl o
foiator 6t awehiar 3 ufrader = it g I @ W g & sga Quurdt el o foiafor fisen srn A et ufvads sma 3 agiadt o,
Eitsll ot aen anfirewt3d o soifd & 3o ardsifors oo swrir en aen adawr s, Bren (sraglfe) sieren goer ser & wenf3a foar swen iy 568
grils gae geiter s # geaimte iz e fea srn uacalic! grr S a1 531 Yt afyader sy o1 suisT AW oo AEes] ddpelebt
fereeraT @1 aret 2 iz ae oft &1 3 g a1w ure A1z E5S @ WA sdiene A o agfane] 2 foifdia sifear sofiel aw sie oftpr aeret 31 foifdia
#oficl e e or1 iz & aw ko smrbl Seil g1 ocrRn st 2 4 a6 aveiikbl YRIi & et s genfe @l sfikol #ras @ fong el
gfergle=il 31 s sufa &l offa of gioiBia foar 8 usoq adeitd! i aruel ara # Sie Facel o ulwns iz gana & ag dHaod safew
HHE o wiids wor ol Jeisiioras e, el off gEntey T wis g et sifSia Sier I g Ao gt wear e

Archaeologists can detect in the form of hand axes and change in
gaacafds sier 95 it @ wal i # afvader v gg wowa &

[Question ID = 1443][Question Description = 52_qSNz_PG_SCY_Q93]
1. Cost of manufacture/Bein @5 @ERT

[Option ID = 5769]
2. Use of manufacture/3rumg o 3=H

[Option ID = 5770]
3. Inputs in manufacture/srurs 3 ki (sege)

[Option ID = 5771]
4. Techniques of manufacture /3rag o Taraiar

[Option ID = 5772)

4) Read the given passage carefully and answer the question that follows

From the seeming irrelevancies of this archaeological gossip, some concrete meaning for the ambiguous term "knowledge"
should yet have been emerging. It has at least been distinguished from instinctive "responses” and from what popular
psychology terms "memories”, as long as such remain personal and private. The knowledge embodied in the hand axes of
the Old Stone Age was both useful and public, It enabled our remote precursors or ancestors to make serviceable tools such
as they needed to supplement the deficiencies of their limbs and other bodily organs. And it was communicated to and
transmitted by all human beings who made hand axes for thousands of generations. Thus this knowledge was preserved -
but not only preserved. It was also enriched and extended. During the two or three hundred years over which hand axes
were being made, archaeologists can detect improvements in their form and changes in the techniques of manufacture.
More efficient tools were produced with less effort, These progressive changes reflect additions to knowledge, discoveries
and inventions that were made public and incorporated in the traditional lore or knowledge used, transmitted and
maintained by Old Stone Age societies. Of course, the progressive change observed in archaeologists' "hand axes" is just one
case of the general technological progress from simple manual tools of stone and bone to complicated machines made of
metallic alloys and other artificial substances and operated by electrical or even nuclear power. It is this technological
progress that has secured for Homo sapiens the victory over all competitors in the evolutionary race for survival. But
technological progress in its turn is just the result and consequence of the accumulation of knowledge. That accumulation
was possible just because human knowledge is public; one member of the species can communicate to another what he has

found out,

forraiferfianT srerior &1 taneigds ufew aiiz Ry s gea &1 30w e ¢
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The distinction in knowledge has emphasized through
et # aiaz & 9g uz fooad Aaw 3 ad @ sren 3 7
[Question ID = 1444][Question Description = $2_qSNz_PG_SCY_Q94]
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[ 1. Myths/firems
[Option ID = 5773]

2. Manufacturing/soem
[Option ID = 5774]
3. Memories/zafeal

[Option ID = 5775]
4. Machines/#gfis

[Option ID = 5776]

%) Read the given passage carefully and answer the question that follows

From the seeming irrelevancies of this archaeological gossip, some concrete meaning for the ambiguous term "knowledge"
should yet have been emerging. It has at least been distinguished from instinctive “responses” and from what popular
psychology terms "memories”, as long as such remain personal and private. The knowledge embodied in the hand axes of
the Old Stone Age was both useful and public. It enabled our remote precursors or ancestors to make serviceable tools such
as they needed to supplement the deficiencies of their limbs and other bodily organs, And it was communicated to and
transmitted by all human beings who made hand axes for thousands of generations. Thus this knowledge was preserved -
but not only preserved. It was also enriched and extended, During the two or three hundred years over which hand axes
were being made, archaeologists can detect improvements in their form and changes in the techniques of manufacture.
More efficient tools were produced with less effort. These progressive changes reflect additions to knowledge, discoveries
and inventions that were made public and incorporated in the traditional lore or knowledge used, transmitted and
maintained by Old Stone Age societies. Of course, the progressive change observed in archaeologists’ "hand axes" is just one
case of the general technological progress from simple manual tools of stone and bone to complicated machines made of
metallic alloys and other artificial substances and operated by electrical or even nuclear power, It is this technological
progress that has secured for Homo sapiens the victory over all competitors in the evolutionary race for survival. But
technological progress in its turn is just the result and consequence of the accumulation of knowledge. That accumulation
was possible just because human knowledge is public; one member of the species can communicate to another what he has
found out,

foramteian awerion @1 taegde ufse iz By s gear o gz 8o |
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What was the knowledge embodied in the hand axes of the Old Stone Age?
yrliel arant o1 3 are1 bt weerst J forlda swer oar an ?
[Question ID = 1445][Question Description = §2_gS5Nz_PG_SCY_Q95]

1. Creative/m=mcns

[Option ID = 5777]
2. Scientific/dsmenr

[Option ID = 5778]
3. Useful/3wei=h

[Option ID = 5779]
4, Progressive/geivrnst

[Option ID = 5780]

Topic:- Sociology_Set2_C

1) Read the given passage carefully and answer the question that follows on the basis of the facts described in the passage

Bureaucracy in India offers a most structural foundation for modernization of the society and growth of a consensual
normative order. It, no doubt, suffers from internal culture tensions; these tensions arise from role conflict in inter-
structural participation of the bureaucrats; his familistic, caste and kin-oriented particularism might come into clash with the
ideology of universalism in his bureaucratic roles; his personal loyalties might cut across the legal anonymity and abstractness
of his 'office’. But these dangers have been over-rated and over-emphasized, on the false belief that these exclusively arise
out of the less 'developed’ and traditional nature of the Indian society; when we look deeper into it, many dysfunctions
seem to be related with the phenomena of power and the relative deprivations of groups and classes. In this form such
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dysfunctions of bureaucracy may be comparable to those existing in the Western societies. It also emerges from the false
assumption that functionally equivalent processes or results must everywhere follow structurally similar growth, This
happens to be a popular fallacy in most of the thinking that goes on about modernization of the traditional societies.

ferraferfiae sterior o saragde ufee iz ofla v s19 gea o saz b ©

s 3 sifeseondt Tensr @ sngfordtaser aen oo Tsafl - sea Aerbl saaTen @ Ao 3g Faifte rarl dwercae offa goa welt 3 el
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afele gedemzon A o1 Iz off an Rroorms adl 2 6 yoriras wu 3 wwegl gitgenall aen ufimai ¥ dwencas a3 Jaa gig 2rl

U2 arftrestor Rider 3 afersior ofifér 21cit 8 Foemdl urtaf¥ss wams & sngffordbimzor & an 2t 2
What is the orientation of bureaucrats in India due to which that bureaucratic structure becomes dysfunctional?
W 3 ciiaszonzl & a=n yahi 2 forsrd o1evl sliczendl Hzeen smritcns & ol 2 7

[Question ID = 1446][Question Description = 52_qSNz_PG_SCY_Q96]
1. Ethnicity oriented particularism/sarfern sf¥era e

[Option ID = 5781]
2. Class oriented particularism /o=t afErEpEr s

[Option ID = 5782)
3. Caste and Kin oriented particularism /Gnfer men smieg, s s

[Option ID = 5783]
4. Racial and Class oriented particularism /===l mer @of aifEm e

[Option ID = 5784]

2) Read the given passage carefully and answer the question that follows on the basis of the facts described in the passage

Bureaucracy in India offers a most structural foundation for modernization of the society and growth of a consensual
normative order. It, no doubt, suffers from internal culture tensions; these tensions arise from role conflict in inter-
structural participation of the bureaucrats; his familistic, caste and kin-oriented particularism might come into clash with the
ideology of universalism in his bureaucratic roles; his personal loyalties might cut across the legal anonymity and abstractness
of his 'office’. But these dangers have been over-rated and over-emphasized, on the false belief that these exclusively arise
out of the less 'developed' and traditional nature of the Indian society; when we look deeper into it, many dysfunctions
seem to be related with the phenomena of power and the relative deprivations of groups and classes. In this form such
dysfunctions of bureaucracy may be comparable to those existing in the Western societies. It also emerges from the false
assumption that functionally equivalent processes or results must everywhere follow structurally similar growth, This
happens to be a popular fallacy in most of the thinking that goes on about modernization of the traditional societies.

forraiferfian srerior &1 tanergds ufew afiz ofa v s1e gea ot awe &I

e 3 siiesondt Tansr @ sngfordtasyer aen o Tsafl - sea werbl saaTen & Ao ¥g Faifte rarl dxencae offa goa ot 3 el
DIF Hes oidl & R ciieondl ©f arfys ARG Aera © AR M6l USal & A Aeld sbIele! B 3T - JAweiens JAeHibr 3 afineT £
I ItUodl Bid 8, Joldbl uf¥anz, sl den wei ARl seead (aiff oofyss) Ierb siiczens - Jerl o] 3 wdsreliarn & fRameena 31
TN 3TUGH W3 W 3, Joubl safltpera forcor sard 'wrifoa’ @ R sererer aen smcdar © dka A Broa awdl 8 aveq vor mat @ s
forean emonr Uz amaeees wieva R srn & aen 3o U smaeredn A af2re ao e e 2 e A aea uwiftee a3 wrwdt weire & arcua
‘Rreofia’ aen aralyay rawg A sogser a1 & S &0 70 92 v A R o ¥ ot i 3 By sidie sl o s agst aur gt @ ot aen
HIUSI ol Dl Teetidil 3 Sloll Yelle SII & 331 Tazeu # olim2endl < A el @ geroll af2eit Fams d kemmt srorl A & sn awdt 3 53
afele gefemzon A o Iz off an Rrooros andl 2 o yoriiras wu 31 wwesl gitgealt aer ufivmi ¥l dwenras = 3 T gig 2rl

et aftrmior Rier 3t aftreior aifer 2eft & Frendt anufer wons v anigfeniiaraor &t wr 26t &
What is assumed about the Indian bureaucracy?
WrEcii= citaszondl o feraer 3f a—m Hrol ST & 7

[Question ID = 1447][Question Description = $2_qSNz_PG_SCY_Q97]
1. Functional equivalents are operating everywhere/ grrirass seres g orf w1 &

[Option 1D = 5785]
2. Process of change is occuring everywhere/afida @5 gitpen ode oo =2t 2

[Option ID = 5786]
3. Dysfunctional pattern/seericae gfemre

[Option ID = 5787]
4, Similarities between the Eastern and Western world/ gz men w2t gen # merms

[Option ID = 5788]

3) Read the given passage carefully and answer the question that follows on the basis of the facts described in the passage

Bureaucracy in India offers a most structural foundation for modernization of the society and growth of a consensual
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normative order. It, no doubt, suffers from internal culture tensions; these tensions arise from role conflict in inter-
structural participation of the bureaucrats; his familistic, caste and kin-oriented particularism might come into clash with the
ideology of universalism in his bureaucratic roles; his personal loyalties might cut across the legal anonymity and abstractness
of his 'office’. But these dangers have been over-rated and over-emphasized, on the false belief that these exclusively arise
out of the less 'developed’ and traditional nature of the Indian society; when we look deeper into it, many dysfunctions
seem to be related with the phenomena of power and the relative deprivations of groups and classes. In this form such
dysfunctions of bureaucracy may be comparable to those existing in the Western societies, It also emerges from the false
assumption that functionally equivalent processes or results must everywhere follow structurally similar growth. This
happens to be a popular fallacy in most of the thinking that goes on about modernization of the traditional societies.

Rraftifian sEner @t samgee ufge iz dia e =10 ga o1 a2 e .

A 3 olipelEl HAATE @ NLRRDIEIT T O HAsak - S ARKRLRI KA & Ko 3¢ smalitnr Furll Fwoneas ofa yoa owil & s34
DI Hee ot 3 1 olimrerdl @t iy Aimliie doa o AHT Bl USal 2 I d6lld shoNEl @ aiare - Fweeras daaiPrm i gfier £
A Il Bk 8, Joreht af¥ar, snfer qur seiy ABnEl semam (il @otss) b simeone - Jos YinoT Jd adseikeo & Raeamr 3
T Irlool I AP &, Jokbl =aftberd foreol Soid "orfer’ @ faftee sfenas aen apgetar & dia 2 forpa awdl 2 use 3o TEl ©F 50
fliean enwonr U7 smaga® Asva R srn 3 wen Ja1 99 sraemwd A Aafdrs g R sran B 5 A ooig eowifers g 3 sl wws & aea
'Frepira’ aen urulys e 3 Icdool R B o & 5 Uz JI6E A Fme o § al unt & £ s6io snprRIT 1 dd Jegl aen oo @ 91t den
HIUGI defol oY Teetrail 3 alell Yeild ST 8 £ Tawu A sliozgndl & ¥ sl &l gorell Uil Fars 3 femer saerit 2 & o awdl 8 53
srcrd Eitmevn A P ag 81t am forporoe sl 8 e goomateerr w4 31 serrar giezrsil aen ubomed Ut sivaencas wa A wema gl Seht

U3t afresiyr Birsr i afresior sifty 2t & Pt ariolfyes wanst @ sueglerdila &1 e 2r0t
In Indian society, dysfunction seems to be related to which one of the following?
W A 3 IRl w1 FAder forrafiiRan & 31 Reaet @ Qela e 3 7

[Question ID = 1448][Question Description = $2_qSNz_PG_SCY_Q98]
1. Only relative deprivation/Sae amseT daen

[Option ID = 578%]
2. Inequality/ ammrern

[Option ID = 5790]
3. Structural differentiations/s=aomra Rfimamn

[Option ID = 5791]
4, Power and relative deprivation/goffs aen e aaa

[Option ID = 5792]

4) Read the given passage carefully and answer the question that follows on the basis of the facts described in the passage

Bureaucracy in India offers a most structural foundation for modernization of the society and growth of a consensual
normative order. It, no doubt, suffers from internal culture tensions; these tensions arise from role conflict in inter-
structural participation of the bureaucrats; his familistic, caste and kin-oriented particularism might come into clash with the
ideology of universalism in his bureaucratic roles; his personal loyalties might cut across the legal anonymity and abstractness
of his 'office’. But these dangers have been over-rated and over-emphasized, on the false belief that these exclusively arise
out of the less 'developed’ and traditional nature of the Indian society; when we look deeper into it, many dysfunctions
seem to be related with the phenomena of power and the relative deprivations of groups and classes. In this form such
dysfunctions of bureaucracy may be comparable to those existing in the Western societies, It also emerges from the false
assumption that functionally equivalent processes or results must everywhere follow structurally similar growth. This
happens to be a popular fallacy in most of the thinking that goes on about modernization of the traditional societies.

Rraftitian sEner ot camgee ufge iz dia e =10 ga o1 a2 e .

HIFT i GlDOIET FATS B NLRTDIBT T O HgaAkT - Soxl ABKDRI e @ ko 3q Faifnr Furll dxonors ofa gyeda @il § s34
D¢ Fee oiél 2 5 sliorenél ot snifrs Aizmlirs fola @1 AP ol USH & 3 Tolld clidmI9lEl @ 3iae - Avaecas Faniir 3 yfie &5
A Jeusa i §; gordt afvarz, snfer e wei aflgrel sorowar (af? gafyen) sarbt silasrons -~ Fes yfBcor A wrdseharror & e 3
T Irlodl 2 ADA &, Jokbl =aftberd foreol Sord "orifcr’ @ faftee e aen apgetar @ dia 2 forpa awdl 2 user 5o TR ©F 50
e enwonr U3 sragad Asva R srn 3 men Ja1 99 sraenw A Af2s g R sran 3 5 A aong eowiftrs a3 sl wws & g
'FreoRa e urulxe Fa A Fouod o 3k 5 5§39 U3 IR A KR @ 8 Al urd § Rp soiko srpRIl ©f Ji9el J3E! a1 oo @ IR qen
AU defol oY Tcetrail 3 aiell Yeila ST 8 $3 Tawy A cliozendl & ¥ sl &l gorell Uil FJars 3 fdemer et 2 & s awdl 8 5o
srer Eitmevn A i g 81t am orporoe sl 8 Br goomateerr w4 31 serrar gRpzrsil aen ubomed Ot sisaencais a3 wema gl Sl

03 afresiyr Rirsr f affrestor sifty 2t & Pt arialyes wanst @ sueglerdilaa &1 e 2r0t
Indian bureaucracy suffers mainly from which one of the following?
WA siinrendl @t Braftiaa d A FEran Rosest Awren e asa & 7

[Question ID = 1449][Question Description = $2_qSNz_PG_SCY_Q99]
1. External cultural tension/ e Fisgker aam

[Opticn ID = 5793]
2. Internal cultural tensions/andfFs it qam

[Option ID = 5794]
3. Role conflict/wRem g5

[Option ID = 5795]
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| 4. Normative disorder/armdERr amm=en

[Option ID = 5796]

5) Read the given passage carefully and answer the question that follows on the basis of the facts described in the passage

Bureaucracy in India offers a most structural foundation for modernization of the society and growth of a consensual
normative order. It, no doubt, suffers from internal culture tensions; these tensions arise from role conflict in inter-
structural participation of the bureaucrats; his familistic, caste and kin-oriented particularism might come into clash with the
ideology of universalism in his bureaucratic roles; his personal loyalties might cut across the legal anonymity and abstractness
of his 'office’. But these dangers have been over-rated and over-emphasized, on the false belief that these exclusively arise
out of the less 'developed’ and traditional nature of the Indian society; when we look deeper into it, many dysfunctions
seem to be related with the phenomena of power and the relative deprivations of groups and classes. In this form such
dysfunctions of bureaucracy may be comparable to those existing in the Western societies, It also emerges from the false
assumption that functionally equivalent processes or results must everywhere follow structurally similar growth. This
happens to be a popular fallacy in most of the thinking that goes on about modernization of the traditional societies.

Rraftifiaa sEnur ot camgee ufge iz dia e =10 ga o1 30z R .

T i GlDOIET FATS B NLRTDIB T O HgaAk] - Sovl ABKLRI W @ ko 3q Faifnr Furll sixonors ofa gyeda owxdl & s34
D¢ Fice ol 2 5 slioeenél ot snifre AiTmliores dola o1 AP ol USH & 3 olld clidm9lEl @ 3iae - Aaeas daniin 3 yfie &5
3 Fruoel B 8, Joreht af¥ar, snfer qur weiy AbeEl srmam (il @otiss) b simone - Jos Yino Jd adseikeo & Rreamr 3
T Irlool 2 ADA &, Jokbl =aftbera 1ol Sois "orfer’ @ fafter e aen apgetar @ dia 2 forpa awdl 2 user 3o TFEl ©F 50
e enwonr U3 smagaw meva R srn 3 aen Jar 99 sraenwa A Aafdr ger R ran B 5 A aong eowifirs g 3 sl wws & aea
'freoRm e urulxe Faa A Fodod B 3 5 & $3 U3 °IR A Rar @ 8 Al urd § Rp oo srpRIl ©f i9el Jdp! a1 oof @ IR qen
HIUG derol b Teotiail 31 Siell gelle 2ir 2 s Tawyu 3 oliozemdl @ 03 srerit &I goroll GREl Fars 3 femmrer ot 3 & o Jadl 8 33
srerd Eitmevn A o g 81t am forporoe sl 2 e goomatoerr wa 31 serrar YRezrsil aen ubomedl Ut sisaencar a3 wema gl Seh

U3 afrniyr R 3 afrestor sifty 2t & Bt arialyes st @ suzglerdilan Sl e 2rit
Which one of the following institutions offers a stable structural foundation and growth of normative order in Indian society?
forsaifeil¥aa A A wia - it dven sl wwE1 B Farl Fdwxaewar ofa aun Arerbi <rasen # giy g i & ?

[Question ID = 1450][Question Description = 52_qSNz_PG_SCY_Q100]
1. Political parties/ =rifm oo

[Option ID = 5797]
2. Democracy /&

[Option ID = 5798]
3. Bureaucracy/simzend

[Option ID = 5799]
4, Aristocracy/meler

[Option ID = 5800]

Topic:- GP36_D1_5H1_SetZ_A

1) Study the table carefully to answer the question that follows :

The given table has the number of boys and girls (in hundreds} in 5 different years in 4 different schools (A, B, C, D) (M-
Boys, F-Girls).

School — A B C D

| Year M F M F M F M F
2016 4.2 4.7 6.2 4.2 |56 (3.5 7.6 7.7
2017 7.7 5.3 5.9 3.3 |44 55 6.6 4.7
2018 10.4 7.9 5.7 5.3 5.9 6.4 3.8 j3.5
2019 6.5 10.7 7.4 6.5 6.3 4.3 6.5 6.8
2020 9.5 11,9 IB.ﬁ 69 (7.6 .4 7.9 [7.6

miferst @1 saegde AesRe o iz oA e gea &1 3z &
offar € =1 enferent 31 4 fafioast Tl (A, B, C, D) 3 5 fafice adl & arel ud arferesil &t sz (Aot i) & ok 2
(M - s, F - aiférem)

oy — A B C Ip

| =l M F M F M F M F

2016 4.2 4.7 6.3 4.2 5.6 359 7.6 7.7
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2017 7.7 5.3 i5.9 3.3 4.4 8.5 iﬁ.ﬁ 4,7
2018 10.4 7.9 2.7 5.3 5.9 6.4 3.8 3.5
2019 (6.5 10.7 7.4 6.5 6.3 4.3 6.3 6.8
2020 2.5 11.9 |8.6 6.9 7.6 5.4 7.9 7.6

Find out the difference between the number of boys in School A and School B during 2016-2020.
ad 2016 - 2020 o Sisra 3<pe1 A iz 3<pa B & sreroi &1 e @ i 3z S @8
[Question ID = 25314][Question Description = 52_qS5Nz_PG_GP36_Q01]

1. 440

[Option 1D = 41256]

2. 445

[Option ID = 41257]

3. 450

[Option ID = 41258]

4. 460

[Option ID = 41259]

2) Study the table carefully to answer the question that follows ;

prepp
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The given table has the number of boys and girls (in hundreds)} in 5 different years in 4 different schools (A, B, C, D) (M-

Boys, F-Girls).

School — A B c D

| Year M F: M F M F M F
2016 4.2 4.7 .3 .2 5.6 (3.5 7.6 7.7
2017 7.7 5.3 5.9 3.3 |44 5.5 6.6 .7
2018 10.4 7.9 .7 5.3 5.9 6.4 3.8 [3.5
2019 6.5 10.7 7.4 6.5 6.3 43 6.5 6.8
2020 9.5 11.9 |a.e 69 [7.6 5.4 7.9 [7.6

AIeRBI I LAY ALRIel 2 AR ikl 6w gpea &1 3ae € ¢
ofix &t a1 ouferot & 4 ffiea gl (A, B, C, D) 3 5 fafice adl 3 sl vd aiitronil &t dw (Jost #) St s 2

(M - s, F - aiférem)

e A B C Ip

| o M F M F M F M F
2016 4.2 4.7 6.3 W2 |56 [B.5 [r6e 7.7
2017 7.7 5.3 e [.3 W44 5.5 [p.6e 47
2018 10.4 7.9 5.7 5.3 5.9 |64 [3.8 [3.5
2019 l6.5 10.7 7.4 6.5 6.3 4.3 6.5 6.8
2020 9.5 11.9 le.ﬁ 6.9 [7.6 5.4 [7.9 7.6

Which school has the lowest number of girl students enrolled during 2016-20207

ad 2016 - 2020 @ Siwer Rrvw woa A sraifdsa swopsi & s aaa oxn 3 7
[Question ID = 25315][Question Description = 52_qSNz_PG_GP36_Q02]

1. A

[Option ID = 41260]

2. B

[Option ID = 41261]

P

[Option ID = 41262]

4. D

[Option ID = 41263]

3) Study the table carefully to answer the question that follows ;
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The given table has the number of boys and girls (in hundreds) in 5 different years in 4 different schools (A, B, C, D) (M-

Boys, F-Girls),

School — A B s D

| Year M F M F M F M F
2016 4.2 4.7 6.3 4.2 5.6 3.5 7.6 7.7
2017 7.7 5.3 [5.9 3.3 4.4 5.5 6.6 4.7
2018 10.4 7.9 5.7 5.3 5.9 6.4 3.8 3.5
2019 6.5 10.7 7.4 6.5 6.3 4,3 6.5 6.8
2020 9.5 11.9 |8.6 6.9 7.6 2.4 7.9 7.6

anferest o sanergeles reraer wi iz ol Re pra i 3w § &
ofldY & o1 enferry o 4 Rffrear raperl (A, B, €, D) 3 5 Rifdeer adl 3 awret v st & s (Fwst #) & o 8

(M - aeres, F - anféresid)

e — A B C Ip

| o M F M F M F M F
2016 4.2 4.7 .2 4.2 56 [B.5 [r.6 [7.7
2017 7.7 5.3 b9 [.3 4 55 6.6 |47
2018 10.4 7.9 b.7 5.3 5.9 6.4 [3.8 3.5
2019 l6.5 10.7 7.4 6.5 6.3 M43 [6.5 6.8
2020 l9.5 11.9 IB.ﬁ 69 [7.6 [5.4 [r9 7.6

Which school has the maximum number of boys enrolled during 2016-2020?
ad 2016 - 2020 o Siua Rew @ 4 sndifkea sl & Fiwar waliics 2 7

[Question ID = 25316][Question Description = $2_qSNz_PG_GP36_Q03]
1. A

[Option ID = 41264]
2. B

[Option ID = 41265]
3. C

[Option ID = 41266]
4, D

[Option ID = 41267]

4) Study the table carefully to answer the question that follows :

The given table has the number of boys and girls (in hundreds) in 5 different years in 4 different schools (A, B, C, D) (M-

Boys, F-Girls).

School — A B C D

| Year M F M F M F M F
2016 4.2 4.7 6.3 4.2 5.6 BS5 7.6 7.7
2017 7.7 5.3 e B3 |44 5.5 6.6 .7
2018 10.4 7.9 5.7 5.3 5.9 |6.4 (3.8 [3.5
2019 6.5 10.7 7.4 6.5 6.3 43 6.5 [6.8
2020 9.5 11.9 |8.6 69 [7.6 5.4 7.9 [7.6

anferent ot exergeios eyt Wi sz A Re gear wrswe § ¢
aitdr & o enferey & 4 ffdwa el (A, B, C, D) 3 5 faficsr aal # arawt od aiftrani & dwar (Fosi d) =€ 3

(M - saes, F - anféresnd)

<Rl —
| ad

A

M
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2016 4.2 4.7 6.3 4, 2 5.6 323 7.6 7.7
2017 7.7 5.3 5.9 3.3 4.4 0.5 6.6 4.7
2018 10.4 7.9 5.7 5.3 L 6.4 3.8 3.5
2019 (6.5 10.7 7.4 6.5 6.3 4.3 6.3 6.8
2020 9.5 11.9 |8.6 6.9 7.6 3.4 7.9 7.6

prepp
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Which school has the minimum percentage increase in total student enrollment (both boys and girls) from 2019 to 20207

foa yayer 3 2019 & 2020 aw ol & ©a suwAikvs (arae iz aftrmn §ieil) # sgeraw gftrera afl; 55 7
[Question ID = 25317][Question Description = 52_qSNz_PG_GP36_Q04]

1. A

[Option ID = 41268]

2. B

[Option ID = 41269]

3. C

[Option ID = 41270]

4. D

[Option ID = 41271]

5) Study the table carefully to answer the question that follows :

The given table has the number of boys and girls (in hundreds) in 5 different years in 4 different schools (A, B, C, D) (M-

Boys, F-Girls),

School —s A B C D

| Year M F M F M F M F
2016 4.2 4.7 b.3 2 5.6 [B.5 7.6 7.7
2017 7.7 5.3 5.9 3.3 |44 5.5 6.6 W7
2018 10,4 7.9 5.7 5.3 5.9 6.4 [3.8 [3.5
2019 6.5 10.7 7.4 6.5 6.3 43 6.5 6.8
2020 9.5 11.9 la.e 69 [7.6 .4 7.9 |16

TIERBT DI AT LRG3 313 oikl fow gpet @1 sae € ¢
aik) €1 =1 aifewor & 4 fRifes =l (A, B, C, D) 3 b ffira quf 3 arcrel vd eiftwoil & s (Fwst #) & e 8

(M - s, F - aiférem)

oU — A B c Ip

| o M F M }F M F M F
2016 4,2 4.7 6.3 K.2 5.6 (3.5 (7.6 [7.7
2017 7.7 5.3 5.9 [3.3 4.4 5.5 [6.6 4.7
2018 10.4 7.9 5.7 5.3 5.9 6.4 [3.8 [3.5
2019 6.5 10.7 7.4 65 6.3 4.3 6.5 6.8
2020 9.5 11.9 |8.6 iﬁ.? 7.6 5.4 [7.9 [7.6

Which vear has the minimum number of girls enrolled during 2016-20197

ad 2016 - 2019 & Shwer fivwr ad siwifdsa et & sign sgaan § 7

[Question ID = 25318][Question Description = 52_qSNz_PG_GP36_Q05]

1. 2016

[Option ID = 41272]

2. 2017

[Option ID = 41273]

3. 2018

[Option ID = 41274]

4. 2019

[Option ID = 41275]
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Topic:- GP36_D1_SH1_Set2 B

1) Which among the following is a MOOC platform?
Toramictl3an 4 31 Dlor 11 v 31 31 2l (FP) wiewiat 3 ?

[Question ID = 25324][Question Description = 52_qSNz_PG_GP36_Q06]
1. Urkund/z=zm=

[Option 1D = 41296]
2. Jitsi Meet/Brzd #iic

[Option 1D = 41297]
3. Coursera/TRR

[Option ID = 41298]
4, Google Meet/foprT #dic

[Option ID = 41299]

2) Identify the correct sequence to join a Google Meet session
A. Enter code and click continue

B. Click ASK to join

C. Click use a meeting code

D. Go to meet.google.com

E. When someone in the meeting gives you access you will join it.
Choose the correct answer from the options given below:

aperet Mic A Sdisor wol & A T0T Fead

A. w15 g wI iz Bl Ryers ol

B. sty g sdiver Ryaw w3

C. 3=t 57 M @ts Raw o3

D. meet.google.com uz smd

E. sra sfifeer & orf smawt vt 3w 3, oY ama 39 Sdiver @il

il R 1w Rroseal 3 31 78 5w w1 awer S :

[Question ID = 25325][Question Description = 52_qSNz_PG_GP36_Q07]
1. A,B,D,C,E

[Option ID = 41300]
2. D,C, A B,E

[Option ID = 41301]
3, E,A,B,CD

[Option 1D = 41302]
4. D, A E, B, C

[Option 1D = 41303]

3) Given below are two statements
Statement I: Operant conditioning was discovered by Thorndike.
Statement |I: Classical conditioning was discovered by lvan Pavlov,

In light of the above statements, choose the most appropriate answer from the options given below

ofil <t werer Ru s & |

e - | 1 [een gaga sigpaaciol &l Wi siclsse of & eft

werd - || et sofpoa B wie sams Uacia o &f i

IURITD DIl I AKIKD #, ikl few 21e fawcdl d A 1l sz @1 aaa Hifsmw ¢

[Question ID = 25326][Question Description = 52_qSNz_PG_GP36_Q08]
1. Both Statement | and Statement [l are correct feer | iz || S =2t £

[Option ID = 41304]
2. Both Statement | and Statement Il are incorrect/wmem | iz || Sl oot &

[Option ID = 41305]
3. Statement | is correct but Statement Il is incorrect/wemt | 3t 2 , Foog oveE || srem 2
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[Option ID = 41306]
4. Statement | is incorrect but Statement |l is correct/wem | smm &, ey e || 38t 2

[Option ID = 41307]

4) Identify the correct phases of activity for the Advance Organiser Model.
A. Presentation of curriculum embedding

B. Presentation of advance organiser

C. Presentation of study groups

D. Presentation of learning task or material

E. Strengthening cognitive organisation

Choose the correct answer from the options given below:
' wsdiH Jislongers Jiisa’ & fow fgan @ adl awur ugaref ;

A, UTGRTeRIl TSt T Yrilozor

B. wsain afislonssz @ gxgritoaon

C. arezrror 3yggl @ Yrgeiloaon

D. safe orRf @1 ARl oI gagedleown

E. JSI6Inae 01001 D1 HIbIGIuT

ol fou a1u taascal 3 3 7l Iz @1 @ DI ©

[Question ID = 25327][Question Description = $2_gqSNz_PG_GP36_Q09]
1. A,Band Conly/gmm A, Baliz C

[Option ID = 41308]
2. B, Cand D only/dam B, Caie D

[Option 1D = 41309]
3. B,Dand Eonly/@=a B, D sfis E

[Option ID = 41310]
4, C,DandEonly/@am C, DAz E

[Option ID = 41311]

5) Match List | with List Il

List | ILiSt ]

Human ability per Gardener's theory of kit
5

Multiple Intelligence

B om @ I. Ability to appreciate and produce rhythm,
A, Linguistic

one, pitch and timbre

B. Logical-mathematical I, Ability to handle long chains of reasoning
C. Musical . Akility to recognise plants and animals

IY. Sensitivity to different functions of

language

D. Maturalist

Choose the correct answer from the options given below:

b3 i B R e B2 e B g

et <l sl
(Frdar @ wg - ghy & Biga & AR \rtoren)
ATGT ZHFTw}

|, =31, o, aa iz vt B Fasar weo AT Irgem

A, smear Fsnsr sl

B ot AT
B. fresS - siforey wieied} Il Tt eress - g wrenail @Y viswert &t A
C. wiofier siieht 11, wrot stz it o ugar @ e
D. gemfranct IV, arro o Rifiroar awret @ gfer sidgomatteran

ot i o et #® 2 25t awe gfem ©

[Question ID = 25328][Question Description = 52_qSNz_PG_GP36_Q10]
1. A-IV,B-I,C-1,D-10
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[Option ID = 41312]

2. AL, B-1,C-1Il,D- 1V

3

[Option ID = 41313]
CA-1LB-NLC-V,D-1I

[Option ID = 41314]

4. A-NL,B-IV,C-1,D-1

[Option ID = 41315]

6) Post-positivism is related to which one of the following philosophies?
‘Iz - Yraemae refaliaa 3 3 foow zofar 3 dAdf2m & 7
[Question ID = 25329][Question Description = 52_qSNz_PG_GP36_Q11]

T

Subjectivism/ Rreroesaae
[Option ID = 41316]

2. Critical Realism /el errns

[Option ID = 41317]

3. Empiricism/3Rampmas

[Option 1D = 41318)]

4, Objectivism fieghrormrs

[Option ID = 41319]

7) Given below are two statements

Statement I: Type | Error refers to the decision to reject the null hypothesis when it is incorrect,

Statement II: Sampling error occurs due to the violation of the principle of random sampling,

In light of the above statements, choose the correct answer from the options given below

iKY ) e Ru s & ;
werot - | 1 apa - | g o it B s stara e afvmeaen o srdtrz @ R siar 3

oot - || @ meRow gitrarra @5 Rigia o1 socias w@ © o gitcma git sidt 2
IO wryell o srentas #, ofl<l 2o 1o oseal | A Jdt oo o e &g

[Question ID = 25330][Question Description = 52_qSNz_PG_GP36_0Q12]

1. Both Statement | and Statement 1| are true /o | &tz | St s 2

[Option ID = 41320]

2. Both Statement | and Statement |l are false/zem | 33 || S T &

[Option 1D = 41321]

3. Statement [ is true but Statement Il is false/mwem | = £ |, Kooy wem || arowes &

[Option ID = 41322]

4. Statement | is false but Statement Il is true/=u= | e B, ooy e || 2 8

[Option 1D = 41323]

8) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Generalisation of a finding is possible only in quantitative studies.

Reason R: Quantitative studies make use of deductive reasoning.

In light of the above statements, choose the correct answer from the options given below
i) ot et B a0 & ©  wep afdnpera (Assertion A) @ u # 3iiz o1 33 wrwt (Reason R) S wa 4 .
fdrerer (A) @ oo @1 Ao SO ARIcHAT ARGl i I §

o1l (R) : Agra® AeE] A BERead @ B Jueiel Rear aw 2

SURITh ®efGll o s 3, sk Bu fawedl 3 21 w18l saz @1 mae Hifsw |

[Question ID = 25331][Question Description = 52_qSNz_PG_GP36_Q13]

1. Both A and R are true and R is the correct explanation of A/(A) afiz (R) gt e & Atz (R), (A) & 28 o= &

[Option 1D = 41324]

2. Both A and R are true but R is MOT the correct explanation of A/ (A} stz (R) =iat 7w & gz=gg (R), (A) @6 =t oo =i 8

[Option ID = 41325]

3. Ais true but R is false/(A) w1 &, aftcer (R) s &

[Option ID = 41326]

4, Ais false but R is true/{A) spwa &, afoa (R) wa &

[Option ID = 41327]

9) Which among the following are statistical packages?

prepp
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A, SPSS

B. SAS

C. ANOVA

D. STATA

E:: R

Choose the correct answer from the options given below:
forrafedoa 3 A oot i aifirrdla Gos § 7

A. 5P5S

B. SAS

C. ANOVA

D. STATA

E.R

il R 1w Rroseal 3 31 78 swe w1 awer St :

[Question ID = 25332][Question Description = 52_qSNz_PG_GP36_Q14]
1. A,B,Cand Donly/@aa A, B, Cdz D

[Option ID = 41328]
2. B,C,DandEonly/gaa B, C, D aiz E

[Option ID = 41329]
3. AB,CandEonly/dwrT A, B, Ca E

[Option ID = 41330]
4., A,B,DandE only/dmT A, B, DA E

[Option 1D = 41331]

10) Ethnography refers to

veals[nbl 1 AT9RT B -

[Question ID = 25333][Question Description = 52_qgSNz_PG_GP36_Q15]
1. A research design that rules out altemative causal explanations of findings deriving from it /e it arfirson ot 331 g o & St o - o
eIl @ aitia o 2

[Option 1D = 41332)
2. An attribute in terms of which cases do not differ, feus oy Bexb =Rc 3 @t # iz =3 2o 2

[Option ID = 41333]

3. A research method where the researcher immerses himself/herself in a social setting for an extended period of time for providing an account of
particular culture, society or community /e girer [t 5 sl vt Fisee seokl, SWe 3 SR W dvicl O © e 3o o= smld aw 531 Smlsee wids
Fmmd

[Option ID = 41334]
4. A measure that is employed to refer to a concept when no direct measure is available/we Fom S Bl @ o1 2ngr w6 ol & fon kear o € ol
DI Yrersl IURT Iucts ol 26 8

[Option ID = 41335]

11) ldentify the correct sequence for successful communication.
w1 HYuU & e w1 Agad usd ¢

[Question ID = 25334][Question Description = 52_qgSNz_PG_GP36_Q16]
1. Sender — Encede message — Channel — Decode message — Audience — Feedback/UEmr — gl @ @ dddel @2l — Jolcl — Syl I Rzitid men —
oflelt — BisdT

[Option ID = 41336]
2. Sender — Encode message — Audience — Channel — Decode message — Feedback/imr — 29l o 9 Wivm oo —  9iFT — Jor — 329 o0 Rerdomr
el — FEasn

[Option ID = 41337]
3. Sender — Encode message — Decode message — Channel — Audience — Feedback/Tmar — g1 @ T Sidv T —  Ta9T T Rrdoe oer —
o — gieT — HisdT

[Option ID = 41338]
4, Sender — Encode message — Channel — Decode message — Feedback — Audience/Qas — dHoy &1 o dfas ©Fal — oo — JHaw o o e —
Bisds — gar

[Option ID = 41339]

12) Which of the following is a physical/environmental barrier to communication?

forgmtelian A 31 ®ia 21 / il dAgww @& oo siifies / arcrasvitr snen 2 ?
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[Question ID = 25335][Question Description = 52_qSNz_PG_GP36_Q17]

1. Time/mm=

[Option ID = 41340]
2. Personality/eIfmea

[Option ID = 41341]
3. Power/authority/awn / gificorz

[Option 1D = 41342]
4. Culture/zizalt

[Option ID = 41343)

13) A lady is reflecting on the causes of the environmental crisis. She is considering and attempting to link varied variables
to make sense of the issue. This scenario is an example of

G Afden vataor Hoe & il @ A 3 Ridor o @1 2 ag 32 ol el @ e fafice a3 & dta dda Fanftr oot & ag # far iz gar=
oI w T uE uiwea Wl IGIEWT &

[Question ID = 25336][Question Description = 52_qSNz_PG_GP36_0Q18]
1. Interpersenal communication/smiakoe Sl

[Option ID = 41344]
2. Intrapersonal communication /s daitres Sgwor

[Option ID = 41345]
3. Mass communication fom FtEer

[Option ID = 41346]
4. Didactic communication/3Iodenyes Hijmor

[Option ID = 41347]

14) Which one of the following is an example of 'Pull Technology' form of communication?
forgmtertia 31 21 Blat I FYWW "YeT STallciiell Yo &I 36160 & 7

[Question ID = 25337][Question Description = 52_qSNz_PG_GP36_Q19]
1. Websites delivered to browser on search/ 3 a5zr oF g2ar oz Befigs £ a8 daeed

[Option ID = 41348]
2. Websites that are advertised /Renfter & o2 feems

[Option ID = 41349]
3. Social media sites/ s iz m=e

[Option 1D = 41350]
4, Websites that are not alive/% Srarst o Ay ot 3

[Option ID = 41351]

15) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Quality questions promote deep learning.

Reason R: The quality of questions asked determines a teacher’s level of success with a lesson.

In light of the above statements, choose the correct answer from the options given below

oftax €t weer Ru 1w ¥ v Afdrweer (Assertion A) @ wa & iy gaer 351d wior (Reason R) & =a &

sfdreperst (A) & syoranngof gea s1sar AfteTa o agrn 3G F

ot (R) : g =10 gl &t sqoremn o @ ai # Rigis Bt weam @ Az o Bedfa oxd 3

I3 weell a5 snend H#, ofil v Broedl § 3 58t 303 o gua Hifsne :

[Question ID = 25338][Question Description = 52_qSNz_PG_GP36_0Q20]
1. Both A and R are true and R is the correct explanation of Af{A) sz (R) gt 73 £ = (R), (A) & = o &

[Option ID = 41352]
2. Both A and R are true but R is NOT the correct explanation of A/{A) sz (R) el wa & oy (R), (A) ot 1 woneeen ondt &

[Option ID = 41353]
3. Afds true but R is false/ (A} = E, &y (R) spreer 8

[Option ID = 41354]
4. A is false but R is true/(A) w8, afisa (R) aieT

[Option ID = 41355]

16) What comes next in the following sequence?
5, 16, 51, 158, ?

il o a1e argpps 9 3P Ferna UT @ia Al FHE=n anesit ?
5, 16, 51, 158, ?
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[Question ID = 25339][Question Description = 52_qSNz_PG_GP36_Q21]
1. 487

[Option ID = 41356]
2. 482

[Option ID = 41357]
3. 387

[Option ID = 41358)
4, 481

[Option ID = 41359]

17) Given below are two statements

prepp
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Statement I: The length and breadth of a rectangle are increased by 10% and 20% respectively, then its area increases by

23%.
Statement Il: In 12 hours, the hour hand and the minute hand coincide 11 times.
In light of the above statements, choose the correct answer from the options given below

oIkl §l werer Ru s 3 :

werd - | @ afe Rpsfl s bt ooa siiz disE # waer: 10% iz 20% gig Bt sell & At 33D Sigwa 3 23 % giy el

weret - || @ 12 g2 3 =5 @t 7E iz Bexe &t 31f 11 ar wo am ekt 3
FRITE UGl @O ACRD A, sl 7 91e kRoedl # 31 w1t = @1 = $ifsm

[Question ID = 25340][Question Description =52_qSNz_PG_GP36_Q22]
1. Both Statement | and Statement |l are true/orem | Az 1 =1 @ &

[Option ID = 41360]
2. Both Statement | and Statement |l are false foam | &5 1 S5 ameg &

[Option ID = 41361]
3. Statement [ is true but Statement Il is false/@wem | == &, Rreg wem | s 2

[Option ID = 41362]
4. Statement | is false but Statement Il is true/=ee | awca 8, freg e || = 2

[Option ID = 41363]

18) Which of the following statements are correct?

A. The product of two integers is 500 and their difference is 5. Then, one of the numbers is 25,

B. The HCF of 108, 288 and 360 is 18,

C. The least number which is exactly divisible by each one of the given numbers is called their LCM.
Choose the correct answer from the options given below:

forraifertian el uz faanz &3 ;

A, <1 guife! @1 IuTerese 500 2 iz Foret siez 5 8 Y Iom 3w Fear 25 3

B. 108, 288 siiz 360 @ aizasn wouacds 18 &

C. & ¥ Azl 3 21 g @i yofa: fenfor w2 818 Fie Sos! agaa 3euac] deori 3

olfer 76w s1e fampeal 3 3 71él Iz &I aae Hifaw ¢

[Question ID = 25341][Question Description = $2_qSNz_PG_GP36_Q23]
1. Aand Bonly/dma Adn B

[Option ID = 41364]
2. Aand C only/@aa A & C

[Option 1D = 41365]
3. Band C only/@aa B diz C

[Option ID = 41366]
4, Conly/awme C

[Option ID = 41367]

19) The average of first 100 positive integers is
uset 100 tmirsrs guifel wr sfiaa 8 -

[Question ID = 25342][Question Description = 52_qSNz_PG_GP36_0Q24]
1. 50

[Option ID = 41368]
2. B1.5
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[Option ID = 41369]
3. 50.5

[Option ID = 41370]
4, 49

[Option ID = 41371]

20) What per cent decrease in salaries would exactly cancel out the 20% increase?
Acroil 3 Rvada gftrera 6 wall soral &t a1 20 % & gy ot Brogeardt oz 34 7

[Question ID = 25343][Question Description = 52_qSNz_PG_GP36_0Q25]
1. 20%

[Option ID = 41372]

2. 21%%

[Option ID = 41373]

3 182 %

3

[Option ID = 41374]

4. 16%%

[Option ID = 41375]

21) Which of the following statements are correct with reference to argument by analogy?
A, It is a deductive type of argument

B. It is an inductive type of argument

C. It is not intended to be mathematically certain

D. It is to be classified as either valid or invalid

E. Its conclusion does not follow from the premises with logical necessity
Choose the correct answer from the options given below:

£ FIA R T Aoosl i Breaferfdaa d A wiar A wem 76 8?7

A. a5 RFmaecaT 9ol w1 aa S §

B. @& AEHGIEHDT Gob1¥ Wl ok Bl 3

C. =& siforcilr efte & Brltea &8t 8o 3

D. 331 smoa @ yaned @ wu H geffea Bear smar §

E. s frerd afdSo snavaasarn o Fwer snens araal 3 ol rrada 3

ol f8u a1e Rrpoal 3 A w16l Sne @l o= ifans

[Question ID = 25344][Question Description = 52_qSNz_PG_GP36_Q26]
1. A, Cand D only/ameg A, Ca= D

[Option ID = 41376]
2. A,DandEonly/sam A, Dafis E

[Option ID = 41377]
3. B,DandEonly/®maB, D sz E

[Option ID = 41378]
4, B,Cand Eonly/@&aa B, Cait E

[Option ID = 41379]

22) Match List | with List Il

List | List 1l
In a Square of Opposition Resultant
4, If "Some girls are shy' is True I. 'E" and 'I' propoesitions are Undetermined
B. If "All men are Tall’ is False Il. "A’ and "O" are Undetermined
C. If 'No crows are white' is True lil. 'E’ praposition is False; °I' propesition is True
D. If 'some flowars are not fragrant® is FalsallV. "A’ preposition is False: "0' proposition is True

Choose the correct answer from the options given below:
=i -l w g -l A gaiem @i

it -1 et -1l
(et o> Rrvel aodef & ) (arfsora)
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A, =17 "y crstioen ordliclt B it & I. 'E" = 'I" vraf vover=r i &

B. uf2 sl qow o ¥ wew B I A iz 0" s ¥

C. af 'm o ads 78 P w& R lll, 'E' aaiere =i & ' aofaerm w8 &
D. af® ‘aze gea Fgelbem sl E wem § IV. A’ srefarers swow & 'O" frafaerer wdt B

o) i oe et #® 2 238t awz gfem ©

[Question ID = 25345][Question Description = 52_qSNz_PG_GP36_Q27]
1. A-LB-I,C-I¥,D-1

[Option ID = 41380]
2. A-NL,B-IV,C-1,D-1I

[Option ID = 41381]
3LA-IW,B-ILC-1,D-1I

[Option ID = 41382]
4. A-1,B-1,C-1V,D-1I

[Option 1D = 41383)

23) ldentify the fallacy committed in the argument.
All household pets are domestic animals.

No unicorns are domestic animals.

Therefore, some unicorns are not household pets.
offal fow ore aad A Tl S § 7

3t UIe, SIIeTaR T e &

DI Yollbiel T ST 3131 &

gHlie, o Yoot ureng sere wdf 2

[Question ID = 25346][Question Description = 52_qSNz_PG_GP36_Q28]
1. Fallacy of Illicit Minor/s=mnd - g1 - g9

[Option 1D = 41384)]
2. Fallacy of Wicit Major/ s - s - S

[Option ID = 41385]
3. Fallacy of Four terms/=owg - Sw

[Option ID = 41386]
4, Existential fallacy/afmaoss 3m

[Option ID = 41387]

24} ¥When an unperceived fact is supposed in order to resolve an apparent centradiction in the presented phencemenon, which cne of the following

pramanas is emploved accarding to Advaitins?
=1 fipl g g 3 REemirs o1 JeraE T 0 © Bw Reell st aea ) spnifee B arn &, am adAl @ e Brafaiaa & 3 Res g @1 saEieT Reer s 8

[Question ID = 25347][Question Description = 52_qSNz_PG_GP36_0Q29]
1. Pratvaksa/q=isi

[Option ID = 41388]
2. Anumara/amgmm

[Option ID = 41389]
3. Arthapattifaseinfy

[Option ID = 41390]
4. Anupalabdhi/ sguetzes

[Option ID = 41391]

25) Given below are two statements
Statement I: The aim of Naiyayikas in formulating the anumana theory is to obtain prama (right knowledge).
Statement |I: The aim of Naiyayikas in formulating the anumana theory is to verify only and only formal validity,

In light of the above statements, choose the correct answer from the options given below

oflKl €1 wera Ru amr & ;

werel - | 1 agera Brgia & gitaca 3 iRt o 3294 g (FE se1) gig &e &

werd - | sigrret Bigia @ gitrarcer # sRuRRpI @1 3g9e daa iz daa diumise RiPpieaar o1 Jacnad ool &
IRt Tuell & s 3, ofld v s1e fReseul 3 A wdl vz 1 @rra Hifars @

[Question ID = 25348][Question Description = 52_qgSNz_PG_GP36_Q30]
1. Both Statement | and Statement || are true /=@ | iz || &t a8
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[Option ID = 41392]
2. Both Statement | and Statement |l are false/foam | 55 1 S5 ameg &

[Option ID = 41393]
3. Statement [ is true but Statement Il is false/@wumr | == &, Rreg wem || s 2

[Option 1D = 41394]
4. Statement | is false but Statement Il is true/=ue | sra 8, Reog et || s 2

[Option ID = 41395]

26) A Network Interface Card (NIC) contains
olea $cabH oI (Ul 1S Hl) dAdlar 8 -

[Question ID = 25349][Question Description = 52_qSNz_PG_GP36_Q31]
1. Domain address/3ta w2a

[Option ID = 413%6]
2. |P address /amidt uixy

[Option 1D = 41397]
3. MAC address/om g 3% (fics) w3

[Option ID = 41398)]
4, Port address/4r e3a

[Option ID = 41399]

27) The number of bits in IPv6 addressing are:
IPv6 wfiior 3i foaer e a1 £ 7

[Question ID = 25350][Question Description = $2_qSNz_PG_GP36_Q32]
1, 32 bits/32 fia

[Option ID = 41400]
2. 64 bits/64 fea

[Option ID = 41401]
3. 128 bits/128 R

[Option ID = 41402]
4. 256 bits/256 R

[Option 1D = 41403]

28) Given below are two statements regarding Wireless Access Points (WAPs).

Statement I: WAPs are connected into the wired network at fixed locations.

Statement |l: The WAP receives and transmits data between the two wired LANs.

In light of the above statements, choose the correct answer from the options given below
AR T WRGH (Seog ¢ ul) & s« 3 okl ol wem ke s 3 :

werel - | 1 seog v ol Biedfya Femedl ur ar Y6 oo A 53 89 &

werol - |l @ secg v Ul 5t air - gvb v ¢ v (clliod ORI olcaks) @ i 3o gid iz Yfte e &

I RITs el @ el A, ofla fou sre Rrpeal 3 A w18 s @1 o=@ $ifm ©

[Question ID = 25351][Question Description =52_qSNz_PG_GP36_Q33]
1. Both Statement | and Statement |l are true/orem | Sz 1 St = &

[Option 1D = 41404])
2. Both Statement | and Statement [l are false/samr | iz || SE o=y &

[Option ID = 41405]
3. Statement [ is true but Statement Il is false/awmr | 0 2, g em || s 2 |

[Option ID = 41406]
4. Statement | is false but Statement Il is true/=ee | awca 8, feeg e || a0 8

[Option ID = 41407]

29) Following are the statements regarding a Repeater
A. It distributes the data packets

B. It is added to transmission systems to boost the signal
C. It sends the data to a specific computer

D. It can also be used on wireless systems

Choose the correct answer from the options given below:
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s aR ddRl s Re se § ;
A. oz 3o b ot fRAala wwr 3

B. 331 Reora ml aitia oo @ e s gonedt # sist s &

C. @z fafdr ez ©f 3a A= 3

D. s3o1 awriler ar - 30 genferi 7 9 Rear so wcoar

a1 ien =g fnpoal 3 3 #8397 @1 o @ik

[Question ID = 25352][Question Description =52_qSNz_PG_GP36_0Q34]

1. Aand Donly/sa Ade D

[Option ID = 41411]
2. A,Band Conly/@aa A, B3fiz C

[Option ID = 41408]
3. BandDonly/sa= B d=D

[Option ID = 41409]
4, Cand D only/@aw C iz D

[Option ID = 41410]

30) Match List | with List Il

List | ist 1l
Devices xample
A, Input devices . Radie frequency identification readers

B. Direct data entryll. DVD

C. Qutput devices [lIl. Joysticks

D. Data backup V. Speakers

Choose the correct answer from the options given below:

et -l el -l A IR P

st -1 e -1
(RarsiE) (3eTE7T)

A. Bl o (serge Earsar) 1. Yt ottt orsSRRrd e St
B. sre¥e 3a1 vedl I &t &

€. Bt gfvt (amscae fasas) I. sitafeast

D. Zer & - art IV, et

ot i o et & 2 =5t awz g ©

[Question ID = 25353][Question Description = $2_gqSNz_PG_GP36_Q35]

1. A-1L,B-UL,C-1l,D-IV

[Option ID = 41412]
2. ALB-1,C-1L,D-IV

[Option 1D = 41413]
3. A-NI,B-1,C-1V,D-1I

[Option ID = 41414]
4. A-IV,B-1,C-1,D-1I

[Option ID = 41415]
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Your Personal Exams Guide

31) Biochemical Oxygen Demand (BOD) is a key indicator of the process performance of waste water treatment plant. The

plant is said to be efficient, when BOD:

aribidned siiaziicia Bais (dRiE) smidre @ ol Fitiv] B DRI ivuga &1 0 #Fd Fhad & Kbl Fi7ig B! aa A% ©el Al & o)

130T -

[Question ID = 25354][Question Description = 52_qSNz_PG_GP36_Q36]

1. Increases/wmed 2

[Option ID = 41416]
2. Decreases/moedl &

[Option 1D = 41417)
3. Remains unchanged /oot =0 2

[Option ID = 41418]
4. Increases for first 36 hours/usct 36 =71 & aeddt 2

[Option ID = 41419]

32) Over the past 100 vears, the estimated rise of global sea level is by 10 to 25 ¢ms or more. This is attributed to which of

the following?

A. Thermal contraction of ocean water
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B. Melting of glaciers and small ice caps

C. Thinning of the Greenland ice sheet

D. Changes in terrestrial water storage

Choose the correct answer from the options given below:

frever 100 adt 3 Rea & 79 7az & 10 3 25 360 0 sirs &1 giy 8ol o agpa 8 31 oRl 3 -
A, FBTHRTIRI Sict @7 i - Fageror

B. faammwi sz org Raidned o ftremon

C. sfiadivs &t av & ars o1 uadr gen

D. Ferefler srenistzor 3F ufyada

oiter faw a1 faaseal 3 2t 7él onT @1 aae B @

[Question ID = 25355][Question Description = 52_qSNz_PG_GP36_Q37]
1. Band C only/aser B iz

[Option ID = 41420]
2. A,Band Conly/@am A, Bafiz C

[Option 1D = 41421)
3. B,CandDonly/@mm B, Caiz D

[Option ID = 41422]
4, A, Cand D only/mwa= A, CE=D

[Option 1D = 41423]

33) The main concept behind solar ponds to store the solar energy is
FHiz Fuil T wwsrEw @ e dAor dizgs & 38 g e § -
[Question ID = 25356][Question Description =52_qSNz_PG_GP36_Q38]

1. Presence of sand in the pond/awme & gy an w=r @&

[Option ID = 41424]
2. Fixed salt gradient from surface to bottom in the pond/arene 3 sce 3 oo oo oeon @ fafde 9500 960 wR S

[Option ID = 41425]
3. Uniform salinity of pond /oo & v 38 =7

[Option ID = 41426]
4. Presence of solar cells in the pond/ e # e Jer w1 W= S

[Option ID = 41427]

34) Disaster Management Act came into existence in
MaEI Yaera sffioria fioar ad sifzferaliia fovan s ?

[Question ID = 25357][Question Description = 52_qgSNz_PG_GP36_Q39]
1. 1985

[Option ID = 41428]
2. 1992

[Option ID = 41429]
3. 2000

[Option 1D = 41430]
4, 2005

[Option ID = 41431]

35) Arrange the following components of municipal solid waste in order of their increasing abundance.
A. Paper and Cardboard

B. Food

€. Tin Cans

D. Dirt and Ash

E. Textiles

Choose the correct answer from the options given below:

srerraiiRrast 95 o1 afdre @ BreftiRan ool o sad g s6r @ T o H Wl

A. wrEr iz oS

B. sirsmor
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C. ot & ot 5
D. e 3z v

E. asg
a1 ien =g fnpoal 3 3 #8397 @1 o @ik

[Question ID = 25358][Question Description = 52_qSNz_PG_GP36_0Q40]
1..E;€: DA B

[Option ID = 41432]
2, C,E, DB, A

[Option ID = 41433]
3. E,C,A D, B

[Option ID = 41434]
4. E,C,D, B, A

[Option ID = 41435]

36) The main reason for low enrollment in vocational education courses in India is
W 3 cAaHIRED Bigl uigeamdl d s - Aeiael B o DIl 3 -
[Question ID = 25359][Question Description = 52_qgSNz_PG_GP36_Q41]

1. High fee structure/sw gr= sasn

[Option ID = 41436]
2. Wrong perception of vocational education among students and parents/srjf siiz affsmrrt # curenfirs s @ @l 3 =rew toeon

[Option ID = 41437]
3. Lack of adequate infrastructure to impart Yocational education/=maanPrir Biar (gra T @ ooz Wi sm=iser 1 i

[Option ID = 41438)]
4. Unavailability of large number of vocational courses/==t siz=r & menlEcr wrrrrE! St agurstrn

[Option ID = 41439]

37) Which one of the following sections of the UGC Act is concerned with the promotion and coordination of university
education for the maintenance of standards of teaching examination and research?

77 sh 2t sifroraa @ KesifeiRaa 3 3 @i A e Pror adian siiz eiter & mem@ Tone T@el < ke kraltenos fben @ dad sile seeaget 3
Fdftra 3 7

[Question ID = 25360][Question Description = $2_qSNz_PG_GP36_Q42]
1. Section 28/a5zr - 28

[Option ID = 41440]
2. Section 25/ - 25

[Option ID = 41441]
3. Section 14/ um - 14

[Option ID = 41442]
4, Section 12/emr - 12

[Option ID = 41443]

38) What per cent of the children's brain development occurs prior to é years?
6 wd Bt s A uEd wwl & wfass o Reast gitrer R 8 smar 3 7

[Question ID = 25361][Question Description = 52_qSNz_PG_GP36_0Q43]
1. 25 %

[Option ID = 41444]
2. 45 %

[Option ID = 41445]
3, 65%

[Option ID = 41446]
4. 85%

[Option ID = 41447)

39) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: The aim of education in ancient India was not just the acquisition of knowledge but preparation for life in this
world beyond schooling,

Reason R: Ancient Indian education laid emphasis on complete realisation and liberation of self,

In light of the above statements, choose the most appropriate answer from the options given below
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ofY 1 e Re sm | wop aifdroera (Assertion A) @ wu 3 iz gz sa® @rer (Reason R) & wa # ;

atfdreperat (A) ; yrelier s 3t fdrgn o1 329 AN A6l TR el ol on dfdes =i o Tauell Rgn A u¥ T3 awia 3 Sfaor & fére dere oo o
@1zv1 (R) : yreflor st fargn ot gof sieargrer aitz awd - Jfcs Uz o Ren

IRID werell @ Anclrs 3, iR Ry famedt # 3 78l 5mz o1 awe Hifas |

[Question ID = 25362][Question Description = $2_qSNz_PG_GP36_Q44]
1. Both A and R are correct and R is the correct explanation of A/(A) 3z (R) gl =2t & afiz (R), (A) & =8t - &

[Option ID = 41448]
2. Both A and R are correct but R is NOT the correct explanation of A/ (A) 4= (R) 3= 78 & weeg (R), (A) D =8 o ol &

[Option ID = 41449]
3. Ajis correct but R is not correct/{A) a8 & wimg (R) o a8 2

[Option ID = 41450]
4. Ais not correct but R is correct/(A) =@t =i 2 womg (R) =2t 8

[Option ID = 41451]

40) Given below are two statements
Statement I: Value development requires conscious, planned and deliberate attempts by the school and the teachers.
Statement |l: Values needed for sustainable development cannot be taught in a school setting.

In light of the above statements, choose the most appropriate answer from the options given below

ofldy &t wesr Re sre ¥ :

weret - | gea - Rrom & Rre <o iz seanst & e FRrIBE sl FRenf gereT smaeas 3 §
el - || @ o Reprr @ R aravers gea Fauedl araravn # ol Rrard o sepd &

IURITE Wil B SIelkp 3, oIkl [du frpodl 9 31 w18l Iaz @1 ool Bifse &

[Question ID = 25363][Question Description = 52_qSNz_PG_GP36_0Q45]
1. Both Statement | and Statement [l are correct/mem | 4 || St ==t &

[Option ID = 41452]
2. Both Statement | and Statement [l are incorrect/mam | 87 1| S 9o £

[Option ID = 41453]
3. Statement | is correct but Statement Il is incorrect/wem | =it 2, Freg wem | =em &

[Option 1D = 41454]
4. Statement | is incorrect but Statement |l is correct/wem | s/m &, Preg e || 348 2

[Option ID = 41455]

Topic:- GP36_D1_SH1_Set2_C

1) Read the given passage and answer the question that follows :

Let us try to explain social life as the pursuit of pleasure and the avoidance of pain. You will soon be saying that the
hedonist begs the question, for even supposing that man does pursue these ends, the crucial problem of why he thinks one
course rather than another likely to produce pleasure, is untouched. Does the guidance of man's conscience explain? How
then does he happen to have the particular conscience which he has. The theory of economic self-interest? But how do
men come to conceive their interest in one way rather than another? The desire for security or prestige or domination or
what is vaguely called self-realization? How do men conceive their security, what do they consider prestige, how do they
figure out the means of domination, or what is the notion of self which they wish to realize? Pleasure, pain, conscience,
acquisition, protection, enhancement mastery are undoubtedly names for some of the ways people act. There may be
instinctive dispositions which work toward such ends. But no statement of the end or any description of the tendencies to
seek it, can explain the behavior which results. The very fact that men theorize at all is proof that their pseudo-
environments, their interior representations of the world, are a determining element in thought, feeling, and action. For, if
the connection between reality and human response were direct and immediate, rather than indirect and interred
indecision and failure would be unknown and (if each of us fitted as smugly into the world, as the child in a womb), Mr.
Bernard Shaw would not have been able to say that except, for the first nine months of its existence, no human being
manages its affairs as well as a plant.

forraferfian srerior @) taregdes U aitz offar 2w 31e yrar o1 3wz difom :

3ST o9 IHE U 37 g3 A TU0 D YRR D w4 3 AAREs sikae & carsar wwel o g o3 g ofig as o # 89 B gmad! G
U Yol & fop 91t &1 e airar forn =Ie 96 A1 3ot 3897l 1 YT ol o YA BH &, clfibol U N 6 & b ag b o= diaar & i
fasalt s orl B o A wE Bros B Asvraon 3 sl sea okl ol A afl s g a3 sa o Bar af fvar sen ¥ aer mopea @
T 1 AFIGelol $3h! Wl Il & oF U6 PPd 3ol & b 33 urA ot fafdree simweor &3 8 ol 3o wiw §  anlfo ot @t faga
? ciftseT Helt 363 D & Gl [zl U afids 3 ardel 13 @) ulddeuel B3 @l 8 RSN, A1 giisor, a1 gy &t 3EsST A1 AUt WU A
firal aneaBRity el imn 3 7 Ads arasil s Bl ulveoaon B3 e §, 4 giersor Redt #end §, O Pl @ AEEI @I Udl DA Tend &, Al
Mre# @1 Mg o= g bt a fafy aea & 7 g, g, s, Juda, s, gty Rngera Brses wu 3 o alles E e Ofs gl
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ooy Rl wId B war pedl ol gi wor Bl mesr qgiiri 8 weodl B ARvar sZew an i s waer an 73 g wva B qaltri wr o1 qofa
ubieEl caask B care ol @ AWl 2 Ae aed o Ags araeduvl ol § Sl 33 ard & J9d & Kb e el - arraent aen daR &
ar 3 Jorbt aiafye graftrn sad e, o iy fger 3 Brafxe ara &6 8 Soswor @ R alt aeafrrar siiv aera sefaen @ da wge
3grasl Iz sgpnior 8 @ aeIRI geael Al aewTa g & M aiforia stz fenpormr @1 aar o8t acen Az (afe o6 A gl =afts 3R 3 sooll
Fdbloiar @& ATy 3E 781 8 i3 s o aen ool 3 Taan 8), off aaits oif of g o1d oar Blan & ey aiffed @ go oft #ig & Aclar o oft Jeer
A a3 Sk A o wff wear § A B oo dien wrn §

What is the main issue when man pursues hedonistic goals?
S AW HEIAIGE 35931 DI YIH ol B AR TR & Ad AT JE1 T Bl & 7

[Question ID = 25364][Question Description = 52_qSNz_PG_GP36_0Q46]
1. Seeking pleasure self/zm= 3= =

[Option ID = 41456]

2. Single course of choice/mwe ey
[Option ID = 41457]

3. Multiple preferences/ smar qrIErmTe

[Option ID = 41458]
4, One's own conscience/&=Re & = & adaam

[Option ID = 41459]

2) Read the given passage and answer the question that follows :

Let us try to explain social life as the pursuit of pleasure and the avoidance of pain. You will soon be saying that the
hedonist begs the question, for even supposing that man does pursue these ends, the crucial problem of why he thinks one
course rather than another likely to produce pleasure, is untouched. Does the guidance of man's conscience explain? How
then does he happen to have the particular conscience which he has. The theory of economic self-interest? But how do
men come to conceive their interest in one way rather than another? The desire for security or prestige or domination or
what is vaguely called self-realization? How do men conceive their security, what do they consider prestige, how do they
figure out the means of domination, or what is the notion of self which they wish to realize? Pleasure, pain, conscience,
acquisition, protection, enhancement mastery are undoubtedly names for some of the ways people act. There may be
instinctive dispositions which work toward such ends. But no statement of the end or any description of the tendencies to
seek it, can explain the behavior which results, The very fact that men theorize at all is proof that their pseudo-
environments, their interior representations of the world, are a determining element in thought, feeling, and action. For, if
the connection between reality and human response were direct and immediate, rather than indirect and interred
indecision and failure would be unknown and (if each of us fitted as smugly into the world, as the child in a womb), Mr.
Bernard Shaw would not have been able to say that except, for the first nine months of its existence, no human being
manages its affairs as well as a plant.

formteiian swerion @1 taegde ug iz & v s1e yea o1 3az dfom ¢

HISY 50 TF Ol 37 gm A gaa D gura @ wa 3§ Aenfce sfiaer & sarwar ot o gara o § s ofly @ ws @ 89 By gamandt as
et gl & R 9t &1 ui o e e s sieer so1 3297l @l I @30l 5T YR I 3, ol Y I 45 & e @ 0w o=l diaen 2 Ry
fepzlt sy o B ool 3 I Preros B FAvraen 2 SEfes sea R o A Gl T 9ol UT a9 o faee Sl feer R 2 @ dopsa &
AT 1 APIGelol $3h! Wl Il & o9 U6 PPa 3ol & b 33 urA aft fafdree simweor &3 8 ol 3o wiw §  anifo waref @t faga
? oifipet A e add & g [Redft o i A suel RRa &6l ulfroouen &3 oz 8 e, ar yfemor, an gyra &l s=1 O e wu #
forat snewfiify war snar ¥ 7 wore araelt gran R afvweoenr 3w B, ¥ gfersor R A 3, @ gra @ AreEl w1 aon O @I §, A
Mre# @1 Mg o= g bt a fafy aea & 7 g, g, s, Juda, s, gty Rngera Brses wu 3 o alles E e Ofs gl
ciel ©Rf @zt  For 32931 ©f QA @0l Bl Hesl ygh & Fmddl 8 didnol 3293 oI @12 il ®ue a1 T I @l &l yghrll o1 @if qula
uRvieEl <aeR B s il @ AWl & a8 aea R aes araedavt w3 § il 539 9 1 J9d & Kb oD Rl - armaIv A HAR
ql: 3 Jorhl Alaire Yo 3o e, snaon Az Kear 4 forafse mra didl 8 3cesun & foe ale areafasar iz s sggikpar © dia dder
srqeast iz sropnfara 815 @ woer geagt AR acora siar § al afewla iy freanar o aar 58 oden Az (@S sad A godks s dane # soeh
Fblvial @ AT 3 76l & S b v aon oni 3 3 8), off a=iid oii of as &1l @a alal [ st af¥vma @& gerd &l e & acrar o o age
39 a%g 3 A ® oidf e § 51N & v diar oar 2

A man's course of action is guided by
aora fogen fRpards ziar aisicidfa 2l 2 ?

[Question ID = 25365][Question Description = 52_qSNz_PG_GP36_0Q47]
1. Collective action/ mide REn zrr

[Option ID = 41460]
2. Critical evaluation of choices/feredl @5 piteicnE JEAidd ZRI

[Option 1D = 41461)
3. Pursuit of self-interest/=mel =

[Option ID = 41462]
4. The thought of social welfare/mafier Tomr @ Fae g

[Option ID = 41463]

3) Read the given passage and answer the question that follows :
Let us try to explain social life as the pursuit of pleasure and the avoidance of pain. You will soon be saying that the
hedonist begs the question, for even supposing that man does pursue these ends, the crucial problem of why he thinks one
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course rather than another likely to produce pleasure, is untouched. Does the guidance of man's conscience explain? How
then does he happen to have the particular conscience which he has, The theory of economic self-interest? But how do
men come to conceive their interest in one way rather than another? The desire for security or prestige or domination or
what is vaguely called self-realization? How do men conceive their security, what do they consider prestige, how do they
figure out the means of domination, or what is the notion of self which they wish to realize? Pleasure, pain, conscience,
acquisition, protection, enhancement mastery are undoubtedly names for some of the ways people act. There may be
instinctive dispositions which work toward such ends. But no statement of the end or any description of the tendencies to
seek it, can explain the behavior which results. The very fact that men theorize at all is proof that their pseudo-
environments, their interior representations of the world, are a determining element in thought, feeling, and action. For, if
the connection between reality and human response were direct and immediate, rather than indirect and interred
indecision and failure would be unknown and (if each of us fitted as smugly into the world, as the child in a womb), Mr.
Bernard Shaw would not have been able to say that except, for the first nine months of its existence, no human being
manages its affairs as well as a plant.

forgaferfsne srerior @Y earorgdes u@ siiz A Re o1 gea wr Faw At ¢

3ET o9 FHF UR! 37 §3 A Tu0 D YRR D 4 3 AAREs sikaa & carsan el o guet o3 2 Ima ofig as o 8 89 B gEad! G
grsl Yeell 2 5 arct &t 1z anel RN Se 5 ApeT so1 359 Y YIA Dol ol YR Sl 3, cifdsel Yaa a2 1 & i ag Yz =it Hierm 2 &6
Rosft s ©orl @ osa A = Broa &t sinmen 2 safl soa orRf o 3 adt 591 oo o2 aE o e oidl Roar srm € o #aasa
Mo o1 APicola sad! caEsn oI E a9 A gl 3o ¢ b 3ud ura adl faldre aiaasaor &3 E S sud ua § o Faret @t agia
? dftvw Agca sed adD @ o Rl o afld 7 sra6t RB3a & afyweaen @3 wear B wEen, ar giteon, @ gerra R s W spase A A
fora1 aneaf3ify ooal @an & ? Aagsa el gren &l ufiecaal &3 o 8, a gives! el Alrd €, 9 Qird © g6l I Udl D3 ohnd 2, a1
A BT Al =0 2 Bradh! a Bty aen & 7 g, g, simal, Jumla, g, g, forguran forsite wu 2 oo afla § ey Ofva dae
dllel ORI @3l & g0l Il @l Y Dol Bl Assl Ygite & Aol § dRkpol 329 @ ®F it wud a1 $31 YA 3ol 1 ggitril @ @8 avla
ubieEl caask B carcal ol @ AWl § Ae aed o AgsI araeduvl oal § Sl 33 ard &I J9d & ke 3o el - arraent aen daR &
ar 3 orbt aafye graftrn soad e, ser iy Ry 3 Brafxe aca &6t § Soswor @ R alt areafrrar siiv aer safaen © da wg
AYrael AT AggAticid Bl & TR Uraasi Al deabicl ai & dl aifovia stz fansarar @1 umr odt acen iz (Al &6 3 e saitp dae 3 saeil
Fdbloiar @& ATy 3& 781 8 i3 s o aean ool 3 Taan 8), off aaits oif of g o1& oar Bl & el aifived & o oft Hig & Aclar o oft Jerer
I 36 Star 3 I 3 W § i Wl vep dien W

The thoughts of men are decided by
FA=l b forme Reerd g frafta s 8 2
[Question ID = 25366][Question Description = 52_qSNz_PG_GP36_0Q48]

1. Their environment/ 383 arg Z=T

[Option ID = 41464]
2. Their behaviour/ 3o =0aF T

[Option ID = 41465]
3. Societal tendencies/amnire ggiiel =

[Option ID = 41466]
4. Their inner perception of the world/z=m o &} 3 3ol aiaf¥e aror g

[Option ID = 41467]

4) Read the given passage and answer the question that follows :

Let us try to explain social life as the pursuit of pleasure and the avoidance of pain. You will soon be saying that the
hedonist begs the question, for even supposing that man does pursue these ends, the crucial problem of why he thinks one
course rather than another likely to produce pleasure, is untouched. Does the guidance of man's conscience explain? How
then does he happen to have the particular conscience which he has. The theory of economic self-interest? But how do
men come to conceive their interest in one way rather than another? The desire for security or prestige or domination or
what is vaguely called self-realization? How do men conceive their security, what do they consider prestige, how do they
figure out the means of domination, or what is the notion of self which they wish to realize? Pleasure, pain, conscience,
acquisition, protection, enhancement mastery are undoubtedly names for some of the ways people act. There may be
instinctive dispositions which work toward such ends. But no statement of the end or any description of the tendencies to
seek it, can explain the behavior which results. The very fact that men theorize at all is proof that their pseudo-
environments, their interior representations of the world, are a determining element in thought, feeling, and action. For, if
the connection between reality and human response were direct and immediate, rather than indirect and interred
indecision and failure would be unknown and (if each of us fitted as smugly into the world, as the child in a womb), Mr.
Bernard Shaw would not have been able to say that except, for the first nine months of its existence, no human being
manages its affairs as well as a plant.

forraferfian srerior @) taregdes U aitz offa 2w 31e yrar o1 3z difom :

HTY &H TE Uel A7 @ A gga D gura & Fa 3 apnber shas @B sarca ! o gura o § sma ofly as w3 89 By gmmardt as
s Yol & for 91t &1 w1e airer fomn e 96 A1 3a1 389701 @l YA ol ol YA BRI &, clfibel U TN 6 & b ag b o diaar & i
st sigper orl B oy A FE Bros B Avraon 3 sl sea ol w6l A afl s g av sg ow RBar af fvar sen ¥ aen moea @
T 1 AFIGelol $3h! Rl Il & oF U6 UPd 3adl & b 33 urA ot fafdree simaeor @53 & ol 3o wiw §  anifo ot @t faga
? oiftseT Helt 363 i & G [zl U adidy 3 ardel i3 @l ulddscuel B3 @rar 8 RN, A1 giisol, a1 gy &l 3EsT A1 AUt WU A
forat el war snar 3 7 woren araelt Jran R afvweaer 3 wat B, ¥ gfersor R Aed B, @ gfra @ AteE o aon O @I 8, A
Mie# @1 Mg o= E bt a fafy aea & 7 g, o, smwwn, quda, s, gty g Brses wu 3 o alls E e Ofs gl
ooy Rl e B war IRedl Wl gi wer Bl mesr qaiiri 8 wovdl B ARvar sfea an oI o1 woer ar §3 g wva B qalri wr o1 aofa
uRvEl <aeR B s ol @2 Al & a8 e R s araedavt wd § Sl 539 9 1 HJ9d & Kb oD Rl - armav A HAR
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ar 3 Jorbt anafye graftrr sad e, sraenr i Ry 3 Brafxs ara &6t 8 soswr @ R alt aeafrsar siiv aer sofaen @ da wge
AYrael AT gt Bl @ SR Yras 31z deapial 8l & dl aifoia sz fanperar @1 umr oidt aoen afte (3l &6 3 Ui —aitp dae 3 saeil
Fidbtolar @ Ty 35 381 8 SiA 5 oo aean ool 3 3ean ), off gaild oif ot s ol war Almr Ay aae sf¥ava & gun & s & yenar TS ot meea
3IH e Sl A wd oidl W § SiA Wl g oien o 3

If the connect between reality and human response is direct, it will result in
Al aralerar sz #om arglRoar © dia ssea gras s 8, at sacer afyona e -

[Question ID = 25367][Question Description = 52_qgSNz_PG_GP36_0Q49]
1. Self-realisation/farwniig

[Option 1D = 41468)
2. Acquistion of prestige/qfém w1 aurm

[Option ID = 41469]
3. Successful actions/zwe Ko

[Option 1D = 41470])
4. Useful theorisation/soief Rrgideszn

[Option ID = 41471]

5) Read the given passage and answer the question that follows ;

Let us try to explain social life as the pursuit of pleasure and the avoidance of pain. You will soon be saying that the
hedonist begs the question, for even supposing that man does pursue these ends, the crucial problem of why he thinks one
course rather than another likely to produce pleasure, is untouched. Does the guidance of man's conscience explain? How
then does he happen to have the particular conscience which he has. The theory of economic self-interest? But how do
men come to conceive their interest in one way rather than another? The desire for security or prestige or domination or
what is vaguely called self-realization? How do men conceive their security, what do they consider prestige, how do they
figure out the means of domination, or what is the notion of self which they wish to realize? Pleasure, pain, conscience,
acquisition, protection, enhancement mastery are undoubtedly names for some of the ways people act. There may be
instinctive dispositions which work toward such ends. But no statement of the end or any description of the tendencies to
seek it, can explain the behavior which results. The very fact that men theorize at all is proof that their pseudo-
environments, their interior representations of the world, are a determining element in thought, feeling, and action. For, if
the connection between reality and human response were direct and immediate, rather than indirect and interred
indecision and failure would be unknown and (if each of us fitted as smugly into the world, as the child in a womb), Mr.
Bernard Shaw would not have been able to say that except, for the first nine months of its existence, no human being
manages its affairs as well as a plant.

forraterfian srerior @) taregdes g aitz offdr 2w 310 yrar &1 3wz difom :

3MST 391 IHF U 37 §3 A Tu0 D YRR D U 3 AARRD sikaa & carsar el o guet o3 2 ma ofig as o # 89 B gEad! @
sl Yol & fop 9t &1 w1e airer fown =Ie 96 Aiopesa 3ot 38971 1 Y @lol ol YA DR &, clfibel U I3 e & b ag B o= diaen & i
st s orl T ol A FE Bros B Avraen 3 sl sea ol el A afl s g a3 ag oo RBar af fvar srn ¥ aen Aoea @
AT T AFIGelol $3h! Rl Il & aF U6 Uod 3adl & b 33 urA ol fafdree simoeor &3 § i 3o wiw §  anlefo ot @t faga
? oiftser Helt 3fed D & G (ol o adids 3 ardel i @) ulddscuel B3 @ 8 IR, A1 giisol, a1 gy &l 3EsT A1 Ut WU A
firal aneaBRity el sian 3 7 Ads araedl s Bl ulrpoaon B3 @ 3, 4 giersor Re #Aend §, O Pl @ AEEI @I Ul DA oRnd &, A1
e w1 3itdgr o & foradht a By wea & ? g, g, simoevn, Jumeial, #dzgm, ghy, fogura Brsge wu 3 oo oils § e gfva gko:
ooy Rl e B var Igedl ol gi wer Bl mesr qaiiri 8 woodl B ARvar sZew an i o1 waer wn §3 gia wva B qaftrid o o1 aofa
ubieEl caasr B A oidl @ Awdl £ Ae Ao o Ags araieduvl ol § Sl 33 ard &I J9d & ke e smiarell - arraent aen daR &
912 3 Fordbt Aiafy® YIgiern Iora faenz, srgen sz fpm 3 otz ava 8idl B Jereeor o e afe arafdomdr aiiz #el sgliagar @ dia s
TS iz gl g @ aeIRT Yraed Al aeara g & ol afewi s fRnsaar @1 aar a8t aosn iz (a2 sad 3 g «aftr JdaR 3 saelt
Fblvial @ A 3 76l & w2 b v aor ani 3 e 8), off =i oii of as &l @ glar [ st af¥vra @& gerd &l we & acrar o 3f age
3 v $ko A o afl wyan ¥ 57 B oo dien ww B

The gist of the passage is that the human behaviour is dictated by
FyELiol w1 T2 us & By wora saasz Biida B 3 -

[Question ID = 25368][Question Description = 52_qSNz_PG_GP36_0Q50]
1. The harsh realities of the world /s=m= 6t ook meakremai g

[Option 1D = 41472]
2. Choices for pleasure/g= & famsenl g

[Option ID = 41473]
3. Seeking smugness in a false world/ Besn sewr & sibivkr smoet zma

[Option 1D = 41474]
4. Emotional vagueness/ MG R0 SR

[Option ID = 41475)
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